When Forming a Corporation
· For Shareholders: §351 (is there control)
· Gain/loss recognition rule: No gain or loss shall be recognized if property is transferred by one or more persons solely in exchange for stock in corporation and immediately after the exchange such persons are in control (§368) of corporation

· Control( at least 80% voting power combined between those transferring property as part of integrated plan (not services) + 80% total number of other shares+ control must be immediately after transfer (no momentary control as a result of prearranged plan)
· BOOT( ONLY GAIN is recognized to the extent of boot, not losses (note basis consequences)

· Character is based on assets! If multiple, allocate boot based on FMV
· Installment boot( can defer until payments are made BUT increase basis automatically!
· Service Provider( not part of control equation unless he contributes some property, but the property cannot be worth less than 10% of the stock. Rev. Rul. 77-37. 

· Basis Consequences

· Stocks will take carryover basis + gain recognized -FMV of boot/money received (debt)

· Holding Period: Tacked for §1221 and §1231 properties & not tacked for OI properties (based on FMVs)

· Complication( Debt Rule: Relief of debt is usually not recognized by shareholder as boot BUT will reduce basis for later recognition! §357.

· Exceptions
· Where principal purpose in transferring property was avoidance of tax or no bona fide tax purpose OR (note here, all the liabilities will be considered boot, not just the ones incurred for the sole purpose of debt relief)
· All liabilities are boot! 

· Where sum of liabilities exceeds total AB of the properties distributed, excess is recognized! Allocate gain among assets based on FMVs to determine character!
· Just excess is recognized! 

· Boot is the entire liability, but excess is recognized (basis should equal 0)
· Corporation
· Gain/loss recognition rule: No gain or loss recognize by corporation on issuance of its own stock. §1032. 
· NOTE: Where there was installment boot given to transferor( corp’s corresponding basis increase only increases as payments are made
· Basis: carryover + amount of gain recognized by shareholder
· NOTE: If shareholder transferred properties with aggregate losses, corporation would adjust properties’ bases. Total BIL decreases BIL properties’ bases based on FMVs. 
· Holding period( tacked regardless of whether properties transferred were §1231 or §1221. 
· Issues in incorporating a going concern: 

· RULE: Accounts receivables transferred to new corporation qualify under §351 & make the new corporation get taxed on collection

· RULE: For accounts payable, deduction allowed to new corporation so long as old business did not take a deduction yet (accrual method)

· Further, assuming accounts payable is not assuming liabilities!

· Organizational/Start-up Expenses

· RULE: Usually should be amortized over 180 months beginning in year when business operations begin, but there is a §248 election to deduct up to $5000 of expenses immediately
(reduced by expenses exceeding $50,000)
· Excluded & must be capitalized. ( costs of issuing or selling stock, expenditures connected with transfer of assets to corporation
Capital Structure of Corporation

· Factors to distinguish between debt and equity

· Form
· Indicia of debt: promise to pay, specific term, remedies for default, no/low interest, and should be payable in all events
· D/E Ratio( case law is all over the place; too much debt( low chance this would be debt but really equity
· Intent
· Proportionality: debt is held in same proportion as equity
· Subordination
· What happens when you want to sell debt or equity instruments—Characterization rules
· Qualified small business stock exclusion!

· Worthless securities deduction (hypothetical sale)( §165; capital loss

· NOTE: Only in registered form or with coupons attached!

· If debt( bad business debt deduction (not evidenced by a security)( i.e. not registered and no coupons; see whether there is a debt) §166
· If in trade or business( OI; 
· If not in trade or business( short-term capital loss

· §1244( small business shareholders can take ordinary loss!
When a Corporation Makes a Non-Liquidating Distribution

· RULE: a dividend is only a dividend if it is made out of E&P at the END of the year.
· Assumption( all distributions are made out of E&P to the extent thereof and from most recently accumulated E&P

· Distributions of Cash

· Shareholder’s Consequences

· RULE: Layer-cake

· First, there is a dividend up until E&P( §301(c)(1)

· Look first to CURRENT earnings and profits at the end of the year. If multiple, then use the attribution approach.

· Next, there is a return of capital to the extent of basis in stock( §301(c)(2)

· Next, a sale or exchange of stock to the extent exceeds basis( §301(c)(3)

· If multiple distributions throughout the year, apportion CEP( Amount of distribution/total amount of distribution * CEP

· AEP is first come first serve

· If negative CEP( apportion AEP ratably based on passage of time, unless you know how much CEP you had at each time.

· Distributing Corporation’s Consequences
· Reduce E&P by amount distributed but cannot take E&P below 0
· Property Distributions
· Shareholder Consequences

· Amount of distribution( FMV reduced by liabilities (even if it is depreciated property)
· Dividend treatment( determined by layer-cake, with CEP being increased for gain in corporation
· Basis( FMV at the time of receipt
· Corporation Consequences

· Gain( on appreciated property
· If liability exceeds FMV( liability is AR

· No loss(NOT on depreciated property. §311.
· E&P( §312

· Appreciated property( increased by gain realized, decreased by FMV
· NOTE: Where there are liabilities on property, the FMV of property gets reduced by liability in the E&P equation
· Depreciated property( decrease by basis of property
· Issue: Constructive dividend?

When a Corporation Buys Back Stock (Redemption)

· ISSUE: always ask about relations because there is constructive ownership (with special rule in §302(b)(3) for waiving)

· Family attribution( an individual is deemed to own stock held by spouse, children, grandchildren, and parents (no siblings, no in-laws,)

· Issue: double attribution?

· RULE: No double attribution

· Entity to Beneficiary Attribution

· Held by partnership( held by partners in proportion to their interests

· Held by trust( held by beneficiaries in proportion

· Held by corporation( owned proportionately by shareholders IF shareholder owns more than 50%
· Beneficiary to entity attribution

· Stock owned by partners is owned by partnership

· BUT NO sideways attribution to other partners

· Stock owned by 50%+ shareholders is owned by corporation
· Option Attribution

· Person holding option to purchase stock is treated as owning stock. 

· Takes precedence over family attribution rules

· Test 1: Substantially Disproportionate Distributions §302(b)(2)
· RULE: 
· After redemption, shareholder has < (not equal to) 50% voting power AND

· 20+% reduction in % of total outstanding voting stock AND
· 20+% reduction in percentage of common stock
· ISSUE: IF there is a series of redemptions made pursuant to a plan (casually related) and taken together, they do not meet the mechanical tests, there is just one redemption & §302(b)(2) does not apply. §302(b)(2)(D).
· Test 2: Complete Termination §302(b)(3)
· RULE: Shareholder completely gives away his entire stock.
· HOWEVER: Note deemed ownership rules

· RULE: Waiver of family attribution if certain conditions met

· 10-year look-forward rule: Cannot own a prohibited interest within 10 years of redemption
· Creditors( 15 years is good. 20 might be pushing.

· Independent contractor( cannot work

· Can still lease so long as it’s at arm’s length and not dependent on corporate earnings or subordinated to claims of creditors
· Cannot have an agent on the board of directors.

· 10-year look-back rule:

· If within 10 years

· Shareholder acquired stock from §318 relative OR

· Such relatives acquired stock from shareholder waiver does not work

· Exception: Where there was no tax avoidance purpose as principal purpose
· Exception: bequest

· Test 3: Not essentially equivalent to a dividend. §302(b)(1)
· THINK
· Partial redemptions of non-voting preferred stock, where there was no voting stock held

· Significant loss in control (going from above 50% to below 50%)

· Loss in control in concert with at least one other person… but think deemed attribution rules
· Family discord( maybe!
· Test 4: Not essentially equivalent to a dividend (corporate side) §302(b)(4)
· RULE: redemption treatment for (1) noncorporate shareholders when there is (2) a redemption in partial liquidation
· Issue: noncorporate?

· Issue: Partial liquidation?

· §302(e)(1): Partial liquidation=not essentially equivalent to dividend (at corporate level) & pursuant to plan & occurs in the year the plan is adopted or the succeeding one
· §302(e)(2): safe harbor example of WHAT is not essentially equivalent to a dividend
· Plan and timely 

· Distributing Corporation ceasing to conduct or distributes assets of a qualified trade or business

· Immediately after, the corporation is actively engaged in another qualified trade or business
· Qualified trade or business=

· Trade or business that was actively conducted throughout the 5-year period ending on date of redemption AND
· Was not acquired by corporation within such period in a transaction in which gain was recognized in whole or in party
· Does not include tax-free reorgs!

· BOTH businesses must have been actively conducted
· Active(cannot have accumulated investment assets, unrelated to the conduct of business!
· §302(e)(4): this applies whether or not the distributions are made pro-rata
· Issue: Surrender of shares did not happen?

· DOES NOT MATTER.
· Consequences to Shareholder

· If not essentially equivalent to dividend under §302( §301 applies. 

· Basis: TP gets to decrease basis in all his stock.

· If §302 applies( sale or exchange treatment. 

· Basis: TP reduces its basis ONLY IN STOCK REDEEMED.

· Consequences to the Corporation

· If just a simple purchase of stock( no gain
· If a purchase of stock with property( 

· GAIN recognized

· NO LOSS recognized

· E&P

· If §301( E&P will decrease by payment amount and by tax paid on BIG

· If §302( IMPORTANT: E&P reduced by E&P attributable to stock. §312(n)(7)
· Important NOTE: Here, AEP includes any CEP available at time of redemption!!

· Tax Planning

· Buy-Sell agreements= agreements for transfer of interest upon death or retirement

· Either cross purchase (shareholders with shareholders) or entity purchase (corporation)

· RULE: If a corporation redeems stock, a continuing shareholder does not have a distribution unless he is subject to an existing primary and unconditional obligation perform the contract. 

· If so( constructive distribution. Taxed under §301. 

· Redemptions Incident to Divorce

· RULE: If H&W agree that a corporation will redeem W’s stock incident to divorce
· If H had primary and unconditional obligation to purchase( §1041 nonrecognition to wife and constructive dividend to H.

· If H did not have primary and unconditional obligation( W has redemption under §302(b)(3) and no constructive dividend to H. 

· Charitable Contributions Followed by Redemptions (Charitable Bailout)

· RULE: IRS announced that this will be a dividend to the donor if the done is legally bound and can be compelled by the corporation to surrender its shares. Rev. Rul. 78-197.
· Redemption to Pay Death Taxes

· Estate can recover the decedent’s shares essentially tax free if certain requirements are met. 

When a Corporation Distributes Its Own Stock

· General Rule: Pro-rata stock dividends are not taxable. §305(a)
· Exceptions:

· If a shareholder can choose between receiving cash or property or stock, then distribution IS taxable under §301. §305(b)(1)
· Even if only one shareholder has the choice and does not take.

· Disproportionate Distributions

· Some shareholders receive property and others have an increase in proportionate interest, taxable under §301. 

· Can be a series/plan!

· Distributions of Common and Preferred Stock to Common Shareholders
· If some common shareholders get voting and others get preferred
· Distributions to Preferred Shareholders

· Any distribution of preferred stock to preferred shareholders falls under §301
· Exception: Preferred on COMMON shareholders

· Distributions to Convertible Preferred Shareholders

· Any distribution on convertible preferred stock is treated as a §301 distribution UNLESS it can be shown that it will not increase in property ownership of shareholders 

· I.e. is it likely that either all will convert or none will
· Regs: likely disproportionate if
· (1) the conversion period is relatively short, and (2) after considering factors such as dividend rate, redemption provisions, marketability of the stock, and conversion rights, it may be anticipated that some shareholders will exercise their conversion rights and some will not.
· Consequences if exceptions apply

· Distribution( FMV of stock. Taxed under §301

· Basis in stock(FMV

· E&P: reduced

· Consequences if exceptions do not apply

· E&P: no change

· Shareholder: allocate basis between new and old shares based on FMV.

· An issue: §306 stock
· RULE: Where preferred stock that is received in a §305(a) stock distribution (i.e. to common shareholders), which is NOT taxed & where corporation has sufficient E&P, the preferred stock has a taint. 
· If it is sold, there is dividend treatment to the extent of E&P when initially received! 

· Anything in excess is reduction in basis of §306 stock, and
· Anything in excess of that is gain from sale!

When a Corporation Makes a Liquidating Distribution

· RULE: a complete liquidation is one or more distributions in redemption of all of the stock of the corporation. §346.
· Plan not required, but if you want earlier distributions to not be taxed as non-distributing distribution, it may help!

· RULE:  Generally taxable to both the corporation and shareholder

· Exception: A parent corporation’s liquidation of an 80% or more (by vote and value) subsidiary

· Exception: tax free reorganizations!

· Tax Consequences to Shareholder IF not a subsidiary §331
· Gain/Loss: Full payment in exchange for entire stock! No first layer of dividend

· RULE: If distributions made throughout time, shareholder can wait to recover gain until recovered basis (open transaction approach)

· Basis in any property received: FMV at the time of receipt!

· Tax Consequences to Corporation IF not a subsidiary §336
· RULE: Must recognize gain or loss in complete distribution!

· IMPORTANT: no loss recognized IF made to §267 party (more than 50% shareholder) AND

· The distribution is NOT pro-rata OR

· The distributed property was acquired by liquidating corporation in §351 transfer or as contribution to capital within last 5-year period . 

· IMPORTANT: Liability( AR=liability if liability> FMV

	Taxpayer
	Gain or Loss Recognition
	Basis in what receives

	Receiving Shareholder
	Yes, as a sale or exchange of stock. §331
	Shareholder gets FMV basis in what is received. §334

	Liquidating Corporation
	Yes, on BIG or BIL of distributed property (with some exceptions for related party losses). §336
	 


· RULES for Subsidiaries

· Subsidiary corporation MUST distribute in complete cancellation or redemption of stock pursuant to a plan of liquidation AND two requirements

· CONTROL: Parent must own at least 80% voting power and 80% total value of outstanding stock in subsidiary from the date of adoption of plan and at all times until the final distribution

· TIMING: Distribution must be made within one taxable year or within 3 years after close of taxable year  §332
· Tax Consequences to Parent Shareholder Corporation if Subsidiary

· RULE: Parent recognizes no gain or loss!
· Basis= Carried over

· Exception: However, does not apply if parent is tax exempt or where parent is a foreign corporation

· Basis: FMV

· Tax Consequences to Minority Shareholders

· RULE: Recognize gain BUT not loss

· Basis: FMV

· Tax Consequences to Subsidiary

· RULE:
·  If §332 does apply( no gain or loss! 

· If not( yes gain! Loss can only be recognized subject to the rules!
	Taxpayer
	Gain or Loss Recognition
	Basis in what receives

	Parent Shareholder Corporation
	None, if §332 is met.
	Parent gets transferred basis in assets. §334(b)

	Controlled Subsidiary Corporation 
	None, if §332 is met. §332.
	Parent gets transferred basis in assets. §334(b)


When a Corporation Makes a Taxable Acquisition

· Asset Sale or Stock Sale (consequences below)

· Make sure to note when shareholder bears burden of the tax. 
· Stock Sale( §338 election?

· Requirements for §338 election

· Can only be made in a taxable transaction
· Buyer must acquire control of the target in a “qualified stock purchase”

· RULE: At least 80% by voting power or value with 12 consecutive months of the first purchase of stock! (acquisition period)

· Buyer must be a C-Corp

· Election must be made on the 15th day of the 9th month after the month in which control was acquired. 

	 
	1. Stock Sale (no §338)
	 2. Stock Sale (with §338)
	1. Corporate Asset Sale
	1. Shareholder Asset Sale

	Target Corp (T)
	No tax
	Taxable under §1001 (to P)
	Taxed
	Taxable under §336 (unless §332 applies)

	Shareholders
	Taxable under §1001
	Taxed under §1001
	Taxable under §331 (liquidating distribution)
Unless §332!!
	Taxable under §331 (when shareholders get the assets)

	T's attributes
	Survive
	Gone
	Gone
	Gone

	Purchasing Corporation (P) basis in the assets
	Carryover
	FMV
	FMV
	FMV

	Summary
	One tax, carryover basis held by T
	Two taxes, FMV basis held by T
	Two taxes, FMV basis held by P
	Two taxes, FMV basis held by P


· Issue: Remember( when you are doing an asset sale, check to see whether any money was left for the corporation to pay tax after it liquidates. Reduces shareholders’ gains.
· §336(e) election: Parent who owns 80% of the voting power and value of a corporation can elect to treat sale or distribution of stock as an asset sale
· Broader in scope than §338

· Acquisition Expenses
· For purchaser

· Debt financing costs( amortized over life of loan generally
· Equity financing costs( capital expenditures
· Asset acquisition costs( capitalized
· P forms new subsidiary( organizational expenses currently deductible up to 5K but reduced as total expenses exceed $50K. Excess amortized over 15 years.
· For target
· Investment banking( capitalized (Indopco)
When a Corporation Makes an Acquisitive Reorganization
· RULE: Must meet common law and statutory requirements
· Common law requirements

· PLAN of reorganization adopted by parties
· BUSINESS PURPOSE

· CONTINUATION OF BUSINESS ENTERPRISE (either using target’s assets or continue their business)

· CONTINUATION OF PROPRIETARY INTEREST
· 50% equity consideration is fine; 40% could work!

· Statutory Requirements differ by type of acquisitive reorg (A, B, or C)( §368
· Type A Reorg (Merger or Consolidation)( §368(a)(1)(A)
· RULE: Meet state law requirements for merger and consolidation + common law requirements
· Issue: consideration( try to have 50% stock (could be nonvoting)
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· Type B Reorg (stock for stock)

· RULE: (1) solely give (2) voting stock--NO BOOT!—(3) purchasing corporation must have control (80% vote and value)
· [image: image2.png]Before / During

Acquiring
sharenoiders)

A voting stock

Acquiring
sharenoiders}

After

Target

Target
sharenoiders}




· Type C Reorg

· RULE: target corporation must transfer (1) substantially all of its assets (2) solely in exchange for (3) all or part of the acquiring corporation’s VOTING stock. Target liquidates, transferring stock to shareholders. 

· Substantially all( 70% gross and 90% of net assets

· Solely does not meet solely!

· Assumption of liability is DISREGARDED!

· Total consideration( 80% must be voting stock but note that liabilities get factored in!
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· Triangular Reorgs

· Benefits

· Could have a subsidiary without giving away too much voting stock (like you would in a B reorg)

· Could insulate from liabilities of target corporation
· Forward Triangular Merger—Target Merges Into Acquiror Subsidiary—Requirements §368(a)(2)(D)

· Subsidiary must acquire substantially all assets (90%/70%)

· No stock of subsidiary can be used as consideration

· Meet the COI requirements of an A reorg (50%)
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· Reverse Triangular Merger (subsidiary merges into target and then P trades stocks with shareholders) Requirements. §368(a)(2)(E)

· Target corp must hold substantially all of its assets and assets of the acquiring subsidiary

· Acquiring corp must have control (80% voting and value) in exchange for voting stock. 20% can be exchanged for boot, which is good if you do not want to do a B reorg)

· Tax Consequences to Target Shareholders and Security Holders

· GAIN: If the applicable requirements are met( NONRECOGNITION of gain from the receipt of stock/securities of the acquiring corporation. §354
· However, if BOOT received, recognize gain up until boot! §356(a)
· §356(a) & (c)( loss is not recognized

· BOOT( In addition to cash(
· RULE: Securities are boot to the extent they do not exceed any securities surrendered, if any. So if shareholder gets securities even though he did not surrender, he has boot! §354(a)(2)

· RULE: Non-qualified preferred stock( generally boot
· Character of boot gain:

· RULE: Dividend if boot has effect of dividend( so look at §302(b) tests
· Pretend the shareholders got an equivalent amount of stock and redeem it
· Use target’s AEP for dividend treatment!
· Adjusted Basis(
· RULE: Target shareholder’s basis in the new shares= basis in old shares + gain recognized – boot received & liabilities assumed

· RULE: Boot takes FMV basis

· Tax Consequences to Target Corporation

· RULE: NO GAIN OR LOSS on exchange of property or other consideration (boot) pursuant to a reorganization

· RULE: Target must recognize boot if it receives it in a reorganization but does not distribute

· RULE: Target corporation will not recognize gain or loss on the distribution of qualified property in a reorganization but must recognize gain on the distribution of assets other than qualified property

· RULE: E&P and other tax attributes carryover!
· Tax Consequences to the Acquiring Corporation
· GAIN: 

· RULE: Not recognize gain or loss on acquisitive reorganization unless there is nonqualifying boot alongside it (not including its own securities)

· RULE: May recognize gain on boot property used to make acquisition
· Basis in assets

· RULE: Carryover + gain recognized by target (C reorg where does not distribute boot)

· Basis in stocks( same as shareholders (carryover)

· Tacked holding period in property received. 

When a Corporation Wants to Divide

· Three Ways to Do This

· Spin-off (dividend)
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· Split-off (redemption)
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· Split-up (liquidation)
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· Requirements for tax-free treatment under §355
· Distributing corporation distributes to shareholder with respect to its stock SOLELY for stock of controlled corporation which it controls immediately before the distribution
· Control=At least 80% of total combined voting power and at least 80% value of other stocks
· Transaction not used principally as a bailout of E&P of D or C or both
· Factors in favor of finding a device
· Pro-rata distributions

· Subsequent stock sale as evidence of bailout
· HOWEVER, only works if part of pre-arranged plan
· Nature and use of corporate assets immediately after the division which are not related to the business (excess cash into C)
· Factors not indicative of device
· A business purpose
· Where distributing corporation is publicly traded and widely held

· Distributing corporation is eligible for §243 dividend received deduction.
· Both D and C are engaged in active trade or business (properly acquired and aged)

· Active( both D & C must be engaged in an active trade or business following the distribution
· Each trade or business must have been actively conducted during the five-year period ending on date of distribution AND not acquired during five-year period in a transaction in which gain or loss was recognized. §355(b)
· Issue: Parts of businesses are separately incorporated based on geography. The one spun off does not meet the 5-year requirement on its own. What result?
· RULE: As long as the business separately incorporated shares some commonalities with the other businesses that have been running for 5 years (vertical division). Lockwood.
· Issue: Horizontal division along functional lines (R&D from manufacturing)? 
· RULE: May be okay

· Issue: Expansion of trade or business or new business?
· RULE: Okay IF done within confines of historical business
· EX: Opening up an internet business!
· Issue: Business being conducted by partnership or LLC in which partners/members are corporations? 
· RULE: will be attributed to partner/member corporations, so long as they own at least 1/3 interest. 
· As part of the distribution, D distributes either all the stock or an amount which constitutes control & has good reason why it didn’t distribute all the stock
· PLUS( judicial requirements

· Business purpose (MUST BE MET)
· RULE: What was the corporation’s motivation in separating? This is independent from other tests and must be met
· EX:
· Resolution of shareholder dispute

· Compliance with antitrust or other decrees

· Facilitate divergent shareholder interests

· Enable access to equity investment or credit (make subsidiary public)

· Resolution of labor disputes

· Resisting hostile takeover

· Fit & Focus( concentrate on one business that you know will thrive
· IMPORTANT: Must ask whether these objectives could be met without stock distribution to shareholders
· EX: if you want to insulate a business from risks of another, could just make a subsidiary. You do not need to divide.
· Continuity of Interest

· RULE: Old shareholders must own at least 50% of the equity in each of the corporations following the division. 
· Prearranged sales will likely not work BUT random sales might be.
· Tax Consequences to the Distributing Corporation
· If it transfers stock to a controlled subsidiary as part of a Type D Reorg §361(c)
· No gain or loss on transfer of assets to new corporation solely in exchange for stocks and securities
· However, if liabilities assumed by C exceed aggregate basis of property transferred( gain recognized. 
· No gain or loss recognized when corporation distributes qualified property to shareholders, 
· but GAIN recognized if 
· other property transferred (which includes liabilities, which can be greater than FMV of property) or

· when either §355(d) or (e) apply. §361(c)
· NOTE: ASK YOURSELF WHETHER §355(d) or (e) apply!

· Substituted basis for controlled corporation stock. §358
· Tacked holding period. §1223(1)
· E&P apportioned in accordance with FMVs of assets. Reg. §1.312-10(a) and (c). 
· All other attributes retained, but in a split off( tax attributes disappear. 
· If there was no type D reorg( §355
· No recognition of gain or loss on distribution of qualified property (stocks and securities)
· Gain recognized on anything else (like appreciated boot)
· NOTE: ASK YOURSELF WHETHER §355(d) or (e) apply!
· Tax Consequences to Controlled Subsidiary

· No gain or loss recognized
· Transferred basis in assets

· Tacked holding period
· Tax Consequences to Shareholders

· Where there is no boot

· On receipt of controlled stock( shareholders have no gain or loss. §355(a)(1).
· Shareholders’ bases are apportioned based on relative FMVs
· Tacked holding period
· Where there is boot

· RULE: Taxed to the extent of boot

· Note: securities are boot to the extent FMV securities received exceeds those surrendered. 

· Character: 

· spin-off( §301 (dividend)

· split-offs & splits-ups( does it have effect of dividend under §301(b)(1)-(3)? §356(a)(1).

· Compare interest shareholder would have received if he would have received stock & redeemed for stock.

· Basis in Boot= FMV

· Basis in Shares: Based on FMVs!
· Failed Divisions (where §355 does not apply)
· RULE: Where there was a preliminary subsidiary formation( §351 will govern that phase, and no gain or loss recognized to D.
· RULE: Distribution of C’s stock causes any built-in-gain to be recognized
· RULE: Shareholders will be taxed on receipt of C stock depending on form
· Spin-off( §301

· Split-off( under §302

· Split-up( complete liquidation rules of §331.
· IMPORTANT: §355(d)( corporate level tax (but not shareholder level tax) on distribution of controlled stock to shareholder IF any person holds disqualified stock and such stock constitutes a 50% or greater interest in either a distributing or controlled corporation
· Disqualified stock( purchased by shareholder during 5-year pre-distribution period!!
Non-Acquisitive, Non-Divisive Reorgs
· Type E Recapitalizations §368(a)(1)(E)
· RULE: §368(a)(1)(E) + common law requirements

· Common law requirements
· Must be pursuant to plan

· Business purpose( but that is easy
· No COBE or COI needed

· Stock for Stock (one class of stock for another)
· RULE: Most stock for stock exchanges will qualify

· Shareholder’s Consequences

· Gain will only be recognized to the extent of boot §354 &§356
· It will be like a stock sale, unless it is equivalent to dividend
· Basis in new stock= shareholder’s old basis+ gain recognized = boot received and for liabilities assumed.  §358

· Tacked holding period
· Corporation’s consequences
· NO gain recognized §1032

· IMPORTANT RULE: preferred stock might be §306 stock if shareholder is protected against gain recognition to any extent and the transaction is essentially equivalent to a stock dividend (use §302(b) tests under §356(a)(2)).
· Safe harbor: where preferred stock received is not different from preferred stock previously held & preferred stock previously held was not §306 stock.

· Stock Given in Exchange for Debt Securities

· Shareholders’ Consequences

· GAIN: Only to the extent of boot §§354, 356

· BASIS: Basis of securities surrendered + gain recognized-boot received-liabilities assumed. §358

· Any stock paid for unpaid interest: ordinary income

· Corporation’s consequences

· GAIN: nonrecognition under §1032

· COD: if corporation pays off bonds for less than FMV

· Can maybe exclude

· Debt Received in Exchange for Stock

· Potential Disguised Dividends Issues?

· Debt Received in Exchange for Debt
· RULE: §354 nonrecognition applies but the FMV of any excess principal amount constitutes boot!
· GAIN: Only to the extent of excess principal. 

· Non-Divisive D Reorgs

· RULE: transfer by one corporation of all or part of its assets to corporate controlled (50%) immediately after the transfer by the transferor or its shareholders provided that the stock or securities of the controlled corporation are distributed in a transaction that qualified under §354 

· Like C reorg( except 

· distribute must obtain control (50%)

· no restrictions on consideration

· Type F Reorgs—Mere Change in Identity, Form, or Place

· Requirements
· No changes to assets or shareholders of corporations 

· All has been distributed in exchange

· New corporation has no property and no tax attributes pre-transaction

· Transferor completely liquidates

· New corporation is only corporation holding property after transaction

· New corporation not holding any new property.

· Type G Insolvency Reorgs §368(a)(1)(G)
· RULE: A transfer by a corporation of all or part of its assets to another corporation in a title 11 or similar case IF pursuant to a plan and qualifies under §§354, 355, or 356.
· Continuity of interest needs to be met( but creditors are counted!

· Shareholders or debt holders do not recognize gains or losses, but shareholder or debt holders who receive an increased amount of debt securities are taxed!
· Shareholders who receive nothing can take a §165 loss
· Creditors have interest income to the extent there was unpaid interest on the securities surrendered
· Creditors may take a loss under §166
· No recognition to the transferring corporation on asset transfers
· Carryover tax basis on assets!
Carryover of Corporate Attributes
· RULES:
· Tax attributes follow assets in a tax-free reorg (other than B & E reorgs) and tax-free liquidations of subsidiaries. §381
· Carryforward of NOLs and other losses and credits are restricted following change of ownership. §§382 and 383
· §269( IRS can disallow deductions, credits, or other allowance where T stock or assets are acquired with principal purpose of obtaining tax attributes. 

· E&P Carryforwards

· RULE: Any deficit incurred before acquisition may not be applied to any E&P accumulated before acquisition. §381(c)(2). 

· NOL Carryforwards
· RULE: If a limitation applies, NOLs are only limited to the value of the old loss corporation’s stock on the date of the ownership change x long term tax-exempt rate. §382 limit.
· When does this limitation apply? When there has been an ownership change!

· RULE: An ownership change is either
· An owner shift of 5% shareholders OR
· % ownership of a loss corporation by one or more 5% shareholders or greater increased by 50% over the lowest % of stock of the loss corporation owned by such shareholders with 3-year testing period
· All less than 5% shareholders are treated as one 5% shareholder. 
· An equity structure shift( including taxable acquisitions!
· And attribution rules apply. 

· Results of an ownership change

· RULE: Only use NOLs to offset old corporation’s subsequent income. Two ways this is done
· Continuity of Business Enterprise Limit: §382(c)( disallows NOLs if old loss corporation business is not continued for at least 2 years after ownership change

· §382 limit--> Only used to the extent of value of loss corporation multiplied by long term tax-exempt rate
· Anything not used is carried forward!
· Another restriction on NOLs( CANNOT use to offset any unrealized BIG on properties that arose before acquisition! (even §338 election)

S Corporations
· Eligibility for S Corp Status §1361(b)

· Must be eligible
· Not banks or insurance companies

· May hold subsidiaries

· Max of 100 shareholders

· Spouses count as one

· Members of family are treated as one

· FAMILY=lineal descendants of common ancestors who are not more than 6 generations removed from the youngest generation shareholder. 

· Only shareholders who are individuals, estates, and certain types of trusts, and exempt organizations (no non-resident alien)

· Not more than one class of stock

· RULE: Means all shares must provide identical rights as to distributions and liquidation proceeds. 

· Straight debt safe harbor §1361(c)(5)

· Requirements
· Interest rate and payment dates must not be contingent on corporate profits, borrower’s discretion, or similar factors

· Non-convertible into stock

· Creditor is individual, estate, trust, or person regularly acting as lend

· Subordination not a problem

· No limitation on size or net worth
· Election, Revocation, and Termination of S-Corp

· Election( §1362
· All shareholders must consent
· Effective as of the beginning of the tax year if made by the 15th day of the 3rd month of the current year.
· All shareholders during pre-election period (the period in the tax year before the date of the election) must consent and be eligible
· Otherwise, election is effective as of the beginning of the following taxableyear
· Revocation
· RULE: Shareholders holding more than 50% of shares consent
· Termination
· Exceed 100 shareholder limitation
· Issuance of second class of stock
· Transfer of stock to ineligible shareholder
· With this, corporation has an S termination year( S short year & C short year
· Passive income limitation §1362(d)(3)
· RULE: Termination where for 3 years:
· Passive investment >  25% of S corp’s gross receipts AND
· S cop has subchapter C E&P
· Inadvertent termination
· RULE: when an s-corp terminates, usually cannot make another election for 5 years, unless Treasury consents
· Exception: inadvertent termination (must prove this was inadvertent, must take steps to rectify, and must agree to whatever adjustments required by IRS)
· Taxable Year
· RULE: any permitted year (calendar or accounting period for which there is business purpose) §1378
MD13 - Overview Basic Problem

Boots, Inc. is a C corporation engaged in the shoe manufacturing business. Boots is a calendar year, accrual method taxpayer with two equal shareholders, Emil and Betty, who are unrelated cash method taxpayers. In answering the questions below, assume for convenience that Emil and Betty each are taxable at a combined federal and state flat rate of 40% on ordinary income and a combined flat rate of 20% on qualified dividends and long-term capital gains. During the current year, Boots has the following income and expense items:

	INCOME
	INCOME AMOUNTS

	Gross profit - sale of inventory
	$2,600,000

	Capital gains
	$200,000


 

	EXPENSES AND LOSSES
	EXPENSE AND LOSS AMOUNTS

	Operating Expenses
	$800,000

	Equipment purchase (100% expensed) under §168(k)
	$800,000

	Capital losses
	$220,000


 

a. Determine Boots, Inc.'s taxable income and its tax liability for the current year.

· Gross Income= $2,600,000 (Profit)+$200,000 (capital gains) = $2,800,000

· Deductions= $800,000 (operating expenses) + $800,000 (equipment purchase) + $200,000 (Cap on capital losses §1211(a)) = $1,800,000

· Taxable income= Gross income – deductions = $2,800,000- $1,800,000= $1,000,000
· Tax Liability= Taxable income * 21% = $1,000,000 *.21= $210,000. §11. 

b. What is the result in a) above if Boots distributes its after-tax profits to Emil and Betty as qualified dividends?

· After tax profits= $1,000,000-$210,000= $790,000

· Dividends to Emil and Betty each= $790,200/2= $395,000

· Tax on Qualified Dividends= $395,000*.20= $79,000
c. What is the result in a) above if instead of paying dividends Boots pays Emil and Betty salaries of $500,000 each? Has the effectiveness of the traditional strategy to reduce the impact of double tax on corporate earnings changed as a result of the 2017 Act?

· With this salary, Boots can take a $1,000,000 deduction for ordinary and necessary trade or business expense under §162, assuming the salaries are “reasonable.” This would make the corporation’s taxable income go from $1,000,000 to $0. Thus, the corporation’s income, in this scenario, would only be taxed once at the shareholder level, when the income gets distributed. Accordingly, as evidenced by this scenario, the tax rate cuts as a result of the TCJA may not be effective in reducing the impact of double taxation because there would not be any double tax to begin with.
MD14 - Corporate Formation

A, B, and C form X Corporation by transferring the following assets, each of which has been held long term:

	TRANSFEROR
	ASSET
	ADJ. BASIS
	FMV

	A
	Equipment (all §1245 gain)
	$15,000
	$22,000

	B
	Inventory
	$7,000
	$20,000

	 
	Land
	$13,000
	$10,000

	C
	Land 
	$20,000
	$50,000



In exchange, A receives 15 shares of X common stock (value - $15,000), $2,000 cash, and 100 shares of X preferred stock (value - $5,000); B receives 15 shares of X common stock (value - $15,000) and $15,000 cash; and C receives 10 shares of X common stock (value - $10,000), $5,000 cash, and X’s note for $35,000 payable in two years. None of the transferors is a “dealer” in real estate. Assume that the preferred stock issued to A is not “nonqualified preferred stock.”

What are the tax consequences (gain or loss realized and recognized, basis, and holding period) of the transfers described above to each shareholder and to X Corporation?
Issue: Do the parties have control as defined by §368 in order for the §351 nonrecognition rules to kick in?
· In order to have control per §368(c), the parties transferring property as part of an integrated plan must have at least 80% total voting power and must have at least 80% of the total number of shares. This is true here. 

Consequences of Transaction with A

· Gain realized by A= $22,000 (AR)-$15,000 (AB)= $7,000. §1001. 

· Gain recognized by A: Gain realized is recognized to the extent of property received by A, i.e. boot. §351. Here the cash is considered property. Consequently, A’s total boot is $2,000 (cash). Accordingly, A would recognize $2,000 of the $7,000 realized gain, and the gain would all be ordinary §1245 gain.
· A’s Basis in the stock= $15,000 (carryover basis) + $2,000 (recognized gain)-$2,000 (boot) = $15,000. That basis would be split up based on proportion of FMV. For the common stock= $15,000*15/20= $11,250. For the preferred stock=$15,000*5/20=$3,750. 
· A’s holding period: Since this equipment was §1231 property, A’s holding period in his interest would be tacked. §1223(1).
· Corporation’s gain realized= $22,000- 0 (AB)= $22,000
· Corporation’s gain recognized= $0. §1032.
· Corporation’s basis= $15,000 (carryover) + $2,000 (gain recognized by A) = $17,000
· Corporation’s holding period in equipment: tacked. §1223(2)
Consequences of Transaction with B

· Gain realized on inventory by B= $20,000- $7,000=$13,000. 

· Gain recognized on inventory by B: As stated above, gain realized is recognized up until boot. Here, boot in the amount of $15,000 is being given for two properties. As a result, the boot must be pro-rated based on FMVs. Here, $15,000 * $20,000(FMV of inventory)/$30,000 (total FMV) = $10,000. Thus, $10,000 of the $15,000 boot is attributable to the inventory, and B recognizes $10,000 of the $13,000 gain realized. This gain would all be ordinary. 
· Loss realized on land by B= $10,000- $13,000= ($3,000) 

· Loss recognized on inventory by B: $0. Only gain realized can be recognized under §351.
· B’s Basis= $20,000 (carryover) -$15,000 (boot) + $10,000 (gain recognized) = $15,000
· B’s holding period:  B’s holding periods in his properties would be tacked on to the holding period in his interest to the extent he contributed §1221 or §1231 property. Here, only $10,000/$30,000 (1/3) of his contribution came from such properties. It follows that 1/3 of B’s interest gets the tacking treatment, while 2/3 would start from 0.  §1223(1). 
· Corporation’s gain realized= $30,000- $0 (AB)= $30,000
· Corporation’s gain recognized= $0. §1032.
· Corporation’s basis in inventory= $7,000 (carryover)+ $10,000 (gain recognized by B) = $17,000. 

· Corporation’s basis in land= $13,000 (carryover)+ $0 (gain recognized by B)= $13,000
· Corporation’s holding period in assets: tacked. §1223(2)

Consequences of Transaction with C
· Gain realized by C= $50,000- $20,000=$30,000. 

· Gain recognized by C: As stated above, gain realized is recognized to the extent of boot. Here, boot totals $40,000. Accordingly, C must recognize all $30,000 of gain realized, and the gain would be classified as §1231 gain. $5,000 of the gain is recognized immediately upon transfer, and the remaining $25,000 in 2 years when the payment on the note is received. §453.
· C’s Basis= $20,000 (carryover) -$40,000 (boot) + $30,000 (gain recognized) = $10,000
· C’s holding period:  Tacked, as this is §1231 property. §1223(1). 
· Corporation’s gain realized= $50,000- 0 (AB)= $50,000
· Corporation’s gain recognized= $0. §1032.
· Corporation’s basis= $20,000 (carryover)+ $30,000 (gain recognized by B)= $50,000. 

· Corporation’s holding period in assets: tacked. §1223(2)
Module 14( exercise

Scenario
A, B, C, D, and E, all individuals, form X Corporation to engage in a manufacturing business. X issues 100 shares of common stock. A transfers $25,000 cash for 25 shares; B transfers inventory with a value of $10,000 and a basis of $5,000 for 10 shares; C transfers unimproved land with a value of $20,000 and a basis of $25,000 for 20 shares; D transfers equipment with a basis of $5,000 and a value of $25,000 (prior depreciation taken was $20,000) for 25 shares; and E transfers a $20,000 (face amount and value) installment note for 20 shares. E received the note in exchange for land with a $2,000 basis that he sold last year. The note is payable over a five-year period, beginning in two years, at $4,000 per year plus market rate interest.
a. What are the tax consequences (gain or loss recognized, basis, and holding period in the stock received) to each of the transferors? As to E, see IRC §453B(a); Reg. §1.453-9(c)92); Prop. Reg. §1.453B-1(c).

 

A:
·  no gain recognition
· Basis--> 25K
· Holding period: 0
B:
· Gain realized=5K
· Gain recognition=0
· Basis= 5K
· Holding period= 0
C:
· Loss Realized=(5K)
· Loss recognized? 0
· Basis=25,000
· Holding period= tacked assuming this was 1231
D:  
· Gain realized= 20K
· Gain recognized=0
· Basis=5K
· Holding period= tacked? Assuming this is 1231?
E: 
· Gain recognized: 0
· Basis=2K
· Holding period: tacked
 

a. What are the tax consequences (gain recognized, basis, and holding period in each of the assets received) to X Corporation?

A:
·  no gain recognition
· Basis--> 25K
· Holding period: tacked
B:
· Gain realized=5K
· Gain recognition=0
· Basis= 5K
· Holding period= tacked
C:
· Loss Realized=(5K)
· Loss recognized? 0
· Basis=20,000
· Holding period= tacked
D:  
· Gain realized= 20K
· Gain recognized=0
· Basis=5K
· Holding period= tacked
E: 
· Gain recognized: 0
· Basis=2K
· Holding period: tacked
 

a. Assume all the same facts except that C transfers two parcels of unimproved land (Parcel #1 and Parcel #2), each with a value of $10,000. C’s basis in Parcel #1 is $15,000, and C’s basis in Parcel #2 is $8,000. What result to C and X Corporation?

 

§362(e)(2)(A)--> CAP on corporation's carryover basis. 
· What is the result to X corp?
· Start with carryover basis
· HOWEVER, the combined AB must be less than FMV
· The BIL loss property gets the decrease of 3K! So now the basis goes to 12. 
· If they both had BIL--> split based on fair market value!
 

a. There was $5,000 of gain inherent in the inventory transferred by B. If X Corporation later sells the inventory for $10,000 and B sells his stock for $10,000, how many times will the $5,000 of gain be taxed? Is there any justification for this result?

 

Twice, once at corporate level and the other time in B. 
 

Value of deferral + encouraging initial investment in corporation.
 

Duplicated BIG. Is there justification for result?
1. Cost of limited liability initially, but now with LLC

2. Same question as before. 

MD15 - High Technologies, Inc.

High Technologies, Inc. ("Hi-Tech") is a small semiconductor company owned and operated by Thelma and Allen Woody. Thelma and Allen formed Hi-Tech as a C corporation three years ago by each contributing $400,000 in exchange for 50% of the corporation's common stock. Hi-Tech has been planning a major expansion of its manufacturing facility and has decided to seek outside financing. It recently approached Jennifer Leech about the possibility of her investing $200,000 in Hi-Tech.

After investigating the corporation's financial position, Jennifer has decided to make the investment. Her objectives are to obtain maximum security while at the same time participating in Hi-Tech's potential growth. Jennifer also is concerned about the rapid change in computer technology and would like to plan for the most favorable tax consequences in the unfortunate event that her investment in Hi-Tech becomes worthless. Consider to what extent Jennifer will realize her economic and tax goals if, in the alternative, her investment takes the following forms:

a. A $200,000 unregistered five-year Hi-Tech note bearing market rate interest.
Jennifer wants to share in potential growth, but her investment looks like a debt, so there is an issue of what exactly her investment is. In the event her investment takes the form of equity, she would be able to take a loss if her security becomes worthless. §165(g). This loss would be capped at $3,000 as it would be capital. If, on the other hand, her investment takes the form of a debt, Jennifer would be able to take a bad debt deduction. §166. 

§165(g)(2) states that securities for the worthless security deduction consist of notes issued by a corporation which is in registered form or has interest coupons attached. Here, the bond is not in registered form and bond does not come with interest coupons attached. 

Since this is the case, the next thing to do is to determine whether this investment constitutes equity or debt. Some factors are discussed below. 
In favor of equity
1. Form: This note seems a little informal since it is not registered. Accordingly, this may not be debt, but this factor alone is not necessarily dispositive.
2. Intent: Here, the parties called this a note. However, the fact that the note was unregistered may prove that there was an intent to classify this security as equity.
In favor of debt
1. Indicia of debt: Here, there is a promise to pay, a specific term of 5 years, and a fixed rate of interest. Courts have found that a fixed rate of interest was a big factor in determining whether securities were, in fact, debt. Indmar.

So, there was a promise to pay over a specific term, with a fixed rate of interest, which points in the way of debt. However, the form and intent factors point to equity. Nonetheless, given that the court in Indmar placed a strong emphasis on the indicia of debt factor, it seems likely that this investment is going to be considered debt. 

Having classified this as debt, Jennifer can likely take a §166 deduction for bad debts. The treatment of these deductions ultimately depends on whether Jennifer was in the trade or business of lending. If she was, she can take ordinary losses. If she was not, on the other hand, her deduction would be classified as short-term capital loss, which is not as favorable because of the $3,000 cap per year. 
b. A $200,000 Hi-Tech registered bond bearing market rate interest.

Unlike above, this bond is registered, so it falls within the scope of §165(g)(2). As a result, should her security become worthless, Jennifer would be able to take a worthless security deduction that same year. That loss would be capital, so it would be subject to the $3,000 cap, which may prove to be unfavorable. 

Dividend Problems

A. EX:  Pelican

i. Ann owns all of the common stock (only class outstanding) od Pelican Corp. Prior to the transactions below and as a result of a §351 transaction, Ann has a basis of $10,000 in her Pelican stock

ii. In year 1, Pelican has $5K of current and no accumulated earnings and profits. It distributes $17,500 to Ann. 

1. 5K dividend, 10K recovery of capital; 0 basis; 2,500 LTCG; E&P=0

iii. Now in year 2--> 15K accumulated deficit in E&P. Current E&P is 10K and distributes 10K to Ann. 

1. 10K dividend; basis=10K still; CEP=0; AEP=15K
B. EX: NewCo and X

a. X, an individual, owns all of the outstanding common stock in NewCo. X purchased the stock many years ago

i. X's basis in stock=$1,000

b. Newco has $15,000 of accumulated earnings and profits. No current earnings and profits

i. Assume Newco distributes inventory ($10,000 FMV; $2,000 basis) to X

1. Gain realized by Newco= $10,000-2,000=$8K
2. Gain recognized by Newco= $8K
3. AEP= $8K-$10K=($2K) decrease; remaining would be 13K
4. X

a. Amount of distribution=10K
b.  All of it would be a dividend. 

ii. Same as (a) but before the distribution, no accumulated earnings or debt

1. Gain recognized is 8K

2. ORDERING RULE: At this point, E&P increased to $8K, so get $8k as dividend; $1K recovery of basis; $1k gain from sale. 

3. AEP: Cannot create deficit from distribution! So $8K-$8k=0 AEP!

4. X's basis=10K!

5. TAKEAWAY: §311(b)(1) rule produces sufficient E&P to characterize the distribution of inventory as a dividend to X

iii. Same as (a), except that Newco distributes land ($10K FMV; $2K basis). X takes subject to $6,000 mortgage

1. Gain recognized is 8K

2. Tax treatment for X?  

3. Amount: 10K distribution-6K mortgage=4K

4. Dividend? All of it!

5. X's basis= 10K

6. AEP: 15K+8K-4K=19K

iv. Assume Newco has $10,000 of current earnings and profits and 15,000 of accumulated earnings and profits and it distributes land to X (FMV 10,000; 20K basis).

1. Loss recognized? 0. §311(a)

2. Tax treatment?

3. X will still have a distribution & basis of FMV! 10,000 ! Take note! 

4. It will all be dividend!

5. However, corporation's E&P will be reduced by 20,000 AB (§312(a)(3))

6. Thus, 5K

v. Would the result be the same if Newco first sold the land and then distributed the proceeds?

1. NO! Now Newco would have a recognized loss! It would drop the current E&P to 0

2. Distributing the proceeds would still lead to a dividend because of the accumulated E&P. This will be reduced now by the amount of the distribution--> 10K. AEP now would be 5!

3. If land is sold--> tax benefit of tax loss. However, shareholder may want it! So have to weigh loss recognition v valuable asset
Module 16
Fruity Drinks Corporation is owned by Casey (all of the common stock - the only class outstanding). Prior to the transactions below and as a result of a §351 transfer, Casey has a $12,000 basis in his Fruity Drinks stock. What results to Casey and Fruity Drinks in each of the following alternative situations?
(a) Fruity Drinks has $11,000 of accumulated earnings and profits at the beginning of Year 2 and $3,500 of current earnings and profits in Year 2. On July 1 of Year 2, Casey sells half of his Fruity Drinks stock to Slushy Corporation for $14,000. On April 1 of Year 2, Fruity Drinks distributes $10,000 to Casey, and on October 1 of year 2, Fruity Drinks distributes $4,000 to Casey and $4,000 to Slushy.
 

C's basis= 12,000 before & $6,000 as of july
Slushy's Basis= $14,000
 

i) How much of the April 1 distribution to Casey will be treated as dividend?
 

$10,000
 

CEP=10,000 *3500/18,000=$1944 (CEP)

10,000-1944=$8056 (AEP) 

 

AEP left: 11,000-8056=$2944 

 

3500 CEP is not enough to cover the 18K of distributions, so we have to allocate pro-rata

· 10K *3500/18K (or 10K/18K*3500)= $1944

 

This distribution was first! That means that AEP has to be allocated to this first!

· 8056 all goes to this. That means AEP left is $2944

 

ii) How much of the October 1 distribution will be treated as dividend to Casey and Slushy?
 

$4500
 

CEP=8,000*3500/18,000= $1556
AEP=$2944 (what is left)= $2944
Total dividend: 1556+2944=$4500
 

CEP: 

· CEP to Casey: 4,000*3500/18K= 778

· CEP to FD: 4000*3500/18K= 778

 

2944/2=1472 goes to each one!! That is the AEP. So

· NOW--> 1750 left to be allocated to basis 

· Reduce each basis by 1750. Both have enough!! But note, dividends do not reduce basis!

 

iii) What will Fruity Drinks’ E&P be following the distributions?
 

$0. 
 

$0! Took all CEP and AEP!
 

(b) Same as (a), above, except that Fruity Drinks has a $10,000 deficit in earnings and profits in Year 2 as a result of its business operations.
 

i) How much of the April 1 distribution to Casey will be treated as dividend?
 

$8500. 
 

10,000*1/4=(2,500) deficit

 

11,000-2500 (AEP at time of distribution)= $8500

 

Allocate negative CEP based on time!!

· Take 1/4 and subtract 2.5K from AEP. So 8.5K as of April 1. First in time, so entire 8500 goes to this. 1500 as of return to capital (enough basis)

· BASIS: 6000-1500=4500!

 

ii) How much of the October 1 distribution will be treated as dividend to Casey and Slushy?
 

AEP left would be 0-7500=-7500. SO none would be a dividend. 
a. None would be a dividend!! At this point: AEP would be 
A. Zane, an individual, owns all of the outstanding common stock in Sturdley Utilities Corporation. Zane purchased his Sturdley stock seven years ago, and his basis is $8,000. At the beginning of the current year, Sturdley had $25,000 of accumulated earnings and profits and no current earnings and profits. Determine the tax consequences to Zane and Sturdley in each of the following situations:

· Sturdley distributes inventory ($20,000 fair market value; $11,000 basis) to Zane.

· First calculate whether there is gain--> increase E&P! §311(b)

· $9K of gain in S corp--> increases CEP by 9. 

· Inventory distribution has $20K FMV. $9 coming from CEP and 11 from AEP. All taxed at dividend rates. Basis=20K

· Remaining AEP=$14!!

· Same as (a), above, except that, before the distribution, Sturdley has no current or accumulated earnings and profits.

· Increases CEP by 9K. Then 20K distribution--> 9K comes from CEP (DIVIDEND); 8K comes from recovery of basis--> 3K capital gain

· Zane takes basis of 20K.

· Sturdley earnings 0 EP. NOT NEGATIVE.  Cannot take negative! 

· Sturdley distributes land ($20,000 fair market value; $11,000 basis), which it has used in its business. Zane takes the land subject to a $16,000 mortgage.

· 9K of gain! 

· NOTE: If liability is more than FMV--> take the amount of liability as AR

· Zane does not have 20K distribution… liability is 16. Net distribution is 4. All is a dividend because enough E&P. Z takes FMV basis in land of 20!!! We include debt in basis! Even though there is a debt

Redemption Problems

A. EX: W Corp has 100 shares of common stock, 25 are owed by grandfather, 20 are owned by Mother (grandfather's daughter), 15 are owned by Mother's Daughter, 10 are owed by mother's adopted Son, and the remaining 30 shares are owed by Grandmother's estate, of which Mother is a 50% beneficiary, and one of Mother's cousins is the other. Mother also has an option to purchase five of Son's shares!
a. Grandpa owns 85% shares of W corp. 25 from him; 20 thru family; another 15 thru granddaughter; another 10 through grandson (adopted children count) (also 5 can be attributed from son to mother and then mother to grandpa); also 15 shares thru estate then attribution (only multiple family attributions are a problem!) The cousin's share cannot be attributed because this is the nephew)

B. EX: X corp has 100 shares. All are owned by Partnership, in which A, B, C, and D  (all unrelated to each other) are equal (25%) partners. W, A's wife, owns all 100 shares of Y corp. 
a. How many shares, if any, of X Corp are owed by A, W, and M (W's mother)? 

i. A: 25; W: 25 (yes double attribution); M: 0 (no double attribution; no reattribution to families after done once!)

b. How many shares, if any, of Xerxes are owned by Yancy?

i. W is more than 50% shareholder--> so corporation owns through her!

ii. H owns 25%--> attributed to wife--> attributed to Y corp (because W is more than 50% shareholder); no multiple attribution problem
c. Would Yancy constructively own any shares of Xerxes if W owned only 10% of Yancy? 

i. NOT more than 50%, so no!!!

d. How many shares, if any, of Yancy are owned by Partnership, B, C, D, and Xerxes?

i. Partnership owns 100 because of beneficiary to entity rule. (do not need to multiply by 25%)

ii. B, C, D do not own anything because of the no sideways attribution rule

iii. X corp owns 100 shares constructively owed by partnership. 
C. EX: Y Corp has 100 shares of common stock and 200 shares of nonvoting preferred stock outstanding. Alice owns 80 shares of Y common stock and 100 shares of its preferred stock. Cathy owns remaining 20 shares of common stock and 100 shares of Y preferred stock. Alice and Cathy are NOT related. In each of the following alternative situations, determine whether the redemption satisfies the requirements of §302(b)(2).
a. On January 15, Y Corporation redeems 75 of Alice's Preferred shares. 

i. NO. A redemption of solely nonvoting stock never satisfies §302(b)(2) because there is not sufficient reduction in shareholder's interest in voting stock.

b. Same as (a), except that Y also redeems 60 shares of Alice’s common stock. 

i. NO. Before-->80/100. Now--> 20/40(total outstanding)=50%. So Alice does not meet the less than 50 requirement here

c. Same as (a), except that Y also redeems 70 shares of Alice’s common stock.

i. YES.  Now A owns 33.3333%, which is less than 50%

ii. Further, her percentage of voting stock now is 33.33% before it was 80%. This is less than 80% of 80% (64%). 

iii. Since there is only one class of common stock and it is all the voting stock, the second 80% requirement has been met. 

iv. Further, since the redemption satisfies §302(b)(2) now, the redemption of the 75 nonvoting shares can piggyback the redemption of common shares, provided the preferred stock is not §306 stock (will discuss later)

d. Would it make a difference in (c) if, on December 1 of the same year, Y redeems 10 shares of Cathy’s common stock?

i. After the second redemption, A's percentage voting stock is 50%. 

ii. ISSUE: Was it pursuant to a "plan" the purpose or effect is a series of redemptions resulting in a distribution not substantially disproportionate with respect to A.
iii. If C's redemption is unrelated to A's A's redemption will qualify. 

iv. If they are linked by plan, A should not qualify (own 50%) now. 

v. RULE: PLAN= a single shareholder arranges a redemption as part of a sequence of events which ultimately restores shareholder the control that was apparently reduced in the redemption. (Joint action by shareholders NOT needed. Shareholder can UNILATERALLY take advantage.)

D. EX: Z corporation has 100 shares of common stock outstanding, owned by A (28); B(25); C (23); and D (24). Unless otherwise stated, these shareholders are unrelated. In each of the following alternative situations, determine if it probably meets or probably fails the §302(b)(1) test.
a.  Z redeems 7 shares from A
i. Probably meets. Goes from 28/100 (minority) to 21/93! cannot combine with others for control (i.e. to go above 50%), where before you could!!!!  (example of concert with others) Rev. Rul 76-364

ii. Minority shareholder losing ability to control corporation in concert with only one other shareholder

b.  Z redeems 5 shares from A, and A and D are mother and daughter. 

i. Here, probably meet

ii. 28/100+24/100=0.52; 23/95+24/95=0.4947. Loss in A's control overall (less than 50%)!!! So not essentially a dividend! 

c. Z redeems 5 shares from A, and A and B are mother and daughter. 

i. Probably fails

ii. 28/100 (A)+25/100 (B)=0.53; 23/95+25/95=0.5053 (still above 50%)! Above 50! Rev. Rul. 75-502. 

d. Same as (c) except that A has not spoken to B since B married “outside her faith.

i. Fails §302(b)(1) if cannot disregard because of family discord

ii. If you can, then 28/100--> 23/95. Lost power to control (was 28, now lost that control) in concert with one other

iii. Not likely because family discord does not often matter

iv. In the alternative, the tax court says you can still apply family attribution then look to see if there is a meaningful reduction given the family discord (53 to 50.5--> probably not).
a. EX: Module 17 Practice Problem (family attribution)

Randall Corporation is owned by John, John's daughter Alison, and Alison's son Chuck. John owns 100 shares of Randall stock, Alison owns 50 shares, and Chuck owns 25 shares. Consider whether the following redemptions (in Year 1) qualify as an exchange under §302(b)(3): (get to treat redemption as sale or exchange-- skip first layer of layer cake)
· Randall redeems Alison's entire 50 shares for cash.
· This is a complete redemption, but in order to say this, cannot be considered to own what family owns. Have to waive. If not, dividend to extent of E&P (pro-rate & AEP is first come first serve)
· Interest--> only can be creditor
· File agreement with IRS?
· 10 year look back
· Same as a) above except that Alison fails to file the agreement required in §302(c)(2)A)(iii)? What is the purpose of this requirement?
· Owns what father owns; son owns
· What about (b)(1)? Cant qualify because she essentially owns what family owns
· Layer cake! How much earning and profits?
· Same as a) above except the price paid for Alison's shares is contingent upon Randall's future profits?
· Prohibited interest if what they get paid is based on future earnings. (b)(3) does not apply; dividend to extent of E&P; no waiver
· Randall redeems 20 of Alison's shares for cash on January 1 of Year 1 and the remaining 30 shares for cash on January 1 of Year 2.
· The second distribution should apply under (b)(3) so long as she can waive family attribution
· The first redemption can qualify is both are part of the same plan (step-transaction doctrine). Interdependent? So long as waiver of family attribution rule
· Same as a) above except Alison remains as a director for Randall?
· CANNOT BE A DIRECTOR; prohibited interest. Waiver of family attribution does not apply!
· Same as a) above except that two years after the redemption, Randall forms a new subsidiary and Alison becomes an employee of the subsidiary?
· Reg--> prohibited interests of Randall's subsidiaries apply to Randall. So waiver does not work!!! Family attribution--> dividend treatment!
· Same as a) above except that two years after the redemption Chuck dies and leaves his Randall shares to Alison?
· Not going to fault you for inheritance, so this is an exception! Not going to violate family attribution rules.
i. EX: Newco operates two unincorporated divisions, one that manufacturers bicycles (Bike) and the other a temporary staffing agency (Staff). Both have been owned for more than 5 years. Newco has a single class of common stock owned equally by A, an individual, and B Corp. In addition, Newco holds some stock as investment. 
· If Newco distributes the assets of Bike to its shareholders in equal shares in redemption of a portion of their Newco stock, will the distribution qualify as a redemption under 302(b)(1), (b)(2), or (b)(3)?

· NO! These are all pro-rata!!! They cannot qualify under any of those sections. 

· For which parties will the distribution described above qualify as a partial liquidation?

· A because B is a corporation! Only applies to noncorporate shareholders for partial liquidation treatment. HERE, pro-rata does not matter because we are looking at corporation's assets!

· If Newco had purchased Bike three years ago for cash, does the transaction still qualify as a partial liquidation for A?

· Does not qualify under the safe harbor

· Not properly acquired--> it was bought with cash. 

· Not properly aged--> less than 5 years. 

· Traditional corporate transaction approach?

· Likely not! Use liquidty to buy assets and then only shortly distribute those assets to shareholders? Nah baba. Not going to satisfy IRS. 

· Newco distributes the Microsoft stock to its shareholders in redemption of some of their stock.  Will this distribution qualify as a partial liquidation?

· Not under the safe harbor. These are investment assets, so it is not a corporate contraction.
a. EX: X corp has 200 shares of common stock outstanding. A & B, who are unrelated, each acquired 100 shares of X stock at the issuance of $500 per share, and they each have an AB of $50K in their X stock. At the beginning of the current year, X has $120K of AEP and X has $100K of CEP from operations (after taxes) during the year.
i. If X distributes $250K cash on July 1 in a redemption of A's shares that qualifies as an exchange under §302(b)(2), the adjustment to AEP would be

1. AEP=120,000+100,000/2= $170,000.

2. Ratable share--> .5*170K= $85,000. E&P reduced by that much!
b. EX: Module 18 Practice Problem

i. A, B, and C, who are unrelated, each own 1,000 shares of common stock (the only class outstanding) of X Corporation with a fair market value of $400 per share. X has $600,000 of accumulated stock and no current earnings and profits. A and C each have a $50,000 adjusted basis in their X stock. B, who recently received her stock as an inheritance, has a $400,000 adjusted basis. B wishes to retire and dispose of her stock.
1. What are the tax consequences of the following alternative transactions:
a. Pursuant to a cross-purchase buy-sell agreement, B sells 500 shares each to A and C for $200,000 each.
b. This is a stock sale; stock purchase. Shareholders just sell stock to one another
c. A&C take cost basis!
d. When X does the redeeming and another shareholder has the redeeming
2. Pursuant to an entity-purchase buy-sell agreement, X redeems all of B's stock for $400,000.
a. We are not told that anyone else has this obligation; no constructive liquidation
b. Just a redemption under §302(b)(3)
c. Corporation gets to reduce E&P by ratable share attributable to stock. (1/3)
3. Same as (a), above, except the agreement required A and C to buy B's stock over 10 years, with appropriate interest, but they did not have sufficient funds to make the payments so they caused X to make them on their behalf.
a. Tax consequences to B are the same
b. B had no gain! Installment sale rules kick if there was gain--> §302(b)(3)
c. A&C had primary and unconditional obligation but X pays--> constructive distributions--> §301!! Constructive dividends!
4. A and C had options to buy B’s stock when B retired, but they were short of funds and allowed X to redeem the stock instead.
a. No constructive distribution under §301!! 
5. The parties previously entered into a cross-purchase agreement under which they agreed that the two surviving shareholders would purchase the X stock owned by the estate of the first shareholder to die. X purchased a life insurance policy on the life of each shareholder and paid the annual premiums. X is the beneficiary under the policies. B died this year, and X used the proceeds from the policy on B's life to completely redeem the stock held by B's estate.
a. A & C still have primary and unconditional obligation to pay
b. Constructive dividend to A & C (half to each)
c. Just because X did it through life insurance does not change our analysis!
c. EX: Alpha Corporation operates a book publishing business ("Books") and a bar exam review course ("Cram") as divisions (i.e., not as separately incorporated entities). Alpha's single class of common stock outstanding is owned in equal shares by Michael, Pamela (Michael's wife), and Iris Corporation. Neither Michael nor Pamela owns any stock in Iris. Alpha also owns all of the stock of Bela Corporation, a separately incorporated company which is engaged in the beta processing business, and it directly owns a diversified securities portfolio.

i. What are the shareholder-level tax consequences of the following alternative transactions:

ii. Alpha has operated Books and Cram for more than five years, and it distributes the assets of Books to its three equal shareholders in redemption of 50 shares from each shareholder. Any different result if the redemption is made without an actual surrender of shares?
1. Pro-rata distribution!!!!!! Does not qualify under (b)(1)-(3). 
2. (b)(4) can work, but not for Iris. Since (b)(1)-(3) does not work, §301 dividend to the extent of E&P. 
3. Dividends received deduction if corporation owns enough of subsidiary corporation
4. M&P--> should qualify so long as it was pursuant to a plan and timely planned. Return of basis and then capital gains
5. Continue to actively run Cram!! 
iii. Is there a different result in (a), above, if Alpha had purchased Books three years ago for cash? If so, why should that matter? What if Alpha acquired Books three years ago in a tax-free reorganization?.
1. Not qualified trade or business
2. Same consequences to Iris
3. M&P might not get sale or exchange treat
4. Pretty doubtful that it won't be essentially equivalent to dividend
5. Maybe this is just investment; weren't ACTIVELY running the business
6. Why does this matter--> to acquire business just to qualify for this partial liquidation!!
7. §301 distribution
8. Tax free reorg: can be a qualified trade or business if actively conducted by someone for 5 years. 
 

Stock Dividend Questions
a. EX: Corporation X offered a dividend reinvestment plan that provided, in part, that a shareholder could elect to have all cash dividends payable to the shareholder or automatically reinvested in shares of the corporation's common stock at a price of 95% of the FMV of the stock on the dividend payment dates less a service charge
i. Shareholders could select to receive stock rather than cash, so this is the exception under §305(b)(1)--> §301.

b. EX: Hill corporation is organized with 2 classes of voting common stock: A and B. Shares in each class of stock have an equal right to Hill's assets and E&P. Frank owns 100 shares of Class A stock, and Fay and Joyce each own 50 shares of Class B stock. Assuming Hill corporation has ample E&P, determine whether distribution is taxable under §301 or excludable under §305(a)
i. A pro rata distribution of Class A stock on Class A and Class B on Class B. The Class B shareholders are given the option to take cash in lieu of additional Class B shares. Joyce exercises this option.
a. All of them taxable under §301 even if only Class B shareholders may elect to be paid in either stock or property.
c. EX: X corporation has 2 classes of stock, voting class A and non-voting class B. X corporation distributes cash to class A and stock to class B. 

i. Cash dividend is of course §301; stock dividend is also §301 because it falls under §305(b)(2) because it increases shareholders' proportionate interests.

d. EX: Hill corporation is organized with 2 classes of voting common stock: A and B. Shares in each class of stock have an equal right to Hill's assets and E&P. Frank owns 100 shares of Class A stock, and Fay and Joyce each own 50 shares of Class B stock. Assuming Hill corporation has ample E&P, determine whether distribution is taxable under §301 or excludable under §305(a)

i. A pro rata distribution of Class A Stock on Class A and a cash distribution on Class B. 

a. Taxable under §301 both for the cash and stock dividends. For the stock dividend, Class A shareholders have increase in proportionate interests (in assets and earnings and profits)

ii. Assume that Class B is a class of nonconvertible preferred stock which pays regular cash dividends and Hill distributes Class B stock to the Class A shareholder. 

a. Class A shareholder will have increased proportionate interest in Hill's assets and E&P, since they have more of a right to dividends. 

e. EX: X Co. has two classes of stock, voting class A and non-voting class B. X Co. distributes common stock to Class A and preferred stock to class B. 

i. Stock dividend qualified under §305(b)(3) and should be analyzed under §301.

f. EX: Hill corporation is organized with 2 classes of voting common stock: A and B. Shares in each class of stock have an equal right to Hill's assets and E&P. Frank owns 100 shares of Class A stock, and Fay and Joyce each own 50 shares of Class B stock. Assuming Hill corporation has ample E&P, determine whether distribution is taxable under §301 or excludable under §305(a)

i. Assume again that Class A and Class B are both classes of voting common stock. Hill makes a pro rata distribution of Class A on Class A and a distribution of newly issued shares of convertible preferred stock on Class B. 

a. Taxable under §301

g. EX: Hill corporation is organized with 2 classes of voting common stock: A and B. Shares in each class of stock have an equal right to Hill's assets and E&P. Frank owns 100 shares of Class A stock, and Fay and Joyce each own 50 shares of Class B stock. Assuming Hill corporation has ample E&P, determine whether distribution is taxable under §301 or excludable under §305(a)

i. “Assume again that Class A and Class B are both classes of voting common stock. Hill makes a pro rata distribution of Class A on Class A and a distribution of newly issued shares of convertible preferred stock on Class B.” Except that the preferred stock which is distributed is convertible into Class B stock over 20 years at Class B’s market price on the day of the distribution
a. Excludable under §305(a)!! Period is 20 years!! Likely nontaxable under §305(b)(5). 

ii. A pro rata distribution of nonconvertible preferred stock to both classes of shareholders.  

a. Here, this is preferred on common! Nontaxable under §305(a), since none of the exceptions of (b) apply--> NOTE: (b)(4) does not apply either.
Complete Liquidations

i. EX: A owns 100 shares of H corp. with an AB of 10K. H corp has $12,000 accumulated E&P. H corp distributes $20K to A in exchange for A's stock in complete liquidation of H corp. 
1. What are the federal income tax consequences to A?  What are the federal income tax consequences to H Corporation? 

a. A: 20K-10K=10K gain; capital gain

b. Corporation: E&P is irrelevant because is a sale or exchange!! 

i. NO DIVIDEND!!!

2. Assume same facts except that A receives $10,000 in year 1 and $10,000 in Year 2, both as part of a complete liquidation. What are the federal income tax consequences to A?  What are the federal income tax consequences to H Corporation? 

a. Same 10,000 of capital gain. However, now A can recover 10,000 of basis in year 1 and realize gain of 10,000 in year 2 (open transaction). Does not have to
ii. EX: P corp owns 90% of S corp. I individual owns the remaining 10% of S corp. P corp's basis in S corp's stock is $3,000. I's AB in S corp stock is $200. S corp has AEP of $2,000 and the following assets
	Assets
	AB
	FMV

	Land
	$3,000
	$8,000

	Equipment
	$2,500
	$1,000

	Inventory
	$100
	$1,000


iii. S wishes to liquidate and distribute all of the assets to its shareholders. S distributes inventory to I and other assets to P corporation
1. What are the federal income tax consequences to P Corporation shareholder?
a. $6,000 of capital gain (9,000 FMV-$3,000 basis in stock). §331. If §332 applies, no recognition. AB in land would be carryover of $3,000, in equipment=$2500. 

b. P corp additionally inherits 90% of S corp's E&P of $2,000 and other tax attributes. 

2. What are the federal income tax consequences to I individual shareholder? 
a. Realized capital gain of $1,000-200=$800.00

b. AB would be FMV=$1,000. §331 will apply because I isn't a parent shareholder with 80% ownership.

3. What are the federal income tax consequences to S Corporation?
a. Land: realized gain of 5K; if §332 applies, not recognized

b. Equipment: Realized loss of $1.5K; if §332 applies, not recognized. If §332 does not apply, P corp is a related party and distribution is not pro-rata, so loss cannot be recognized either.

c. Inventory has realized gain of $900. §332 does not apply, but this gain has to be recognized under §331!!
iv. All the outstanding stock of X Corporation is owned by Ivan (60 shares) and Flo (40 share), who are unrelated. X has no liabilities and the following assets:

	ASSET
	ADJ. BASIS
	FMV

	Gainacre
	$100,000
	$400,000

	Lossacre
	$800,000
	$400,000

	Cash
	$200,000
	$200,000


Unless otherwise indicated, assume that Gainacre and Lossacre each have been held by X for more than five years. On January 1 of the current year, X adopted a plan of complete liquidation. What are the tax consequences to X on the distribution of its assets pursuant to the liquidation plan in each of the following alternatives?
 

(a) X distributes each of its assets to Ivan and Flo as tenants-in-common in proportion to their stock interests (i.e., Ivan takes a 60% interest and Flo a 40% interest in each asset).

 

§336: liquidating corp (X)--> sold assets

 

Gainacre--> 300K gain on distribution of gainacre. Same result as nonliquidating distributiion

 

Lossacre--> §311 states nonliquidating losses can be recognizes. §336 could recognize loss here because it is in liquidating distribution

§336(d) loss limits. Do not apply here--> pro-rata and have been held for more than 5 years. 

 

Shareholders

 

§331--> FMV of what they get less their Abs. Capital gain!

 

(b) Same as (a), above, except X distributes Lossacre and the cash to Ivan and Gainacre to Flo.

 

Same as above, but have to apply §336(d) loss limits. 

· §267 related person--> more than 50% shareholder if the distribution is not pro-rata

· More than 60%. Not pro-rata. 400,000 loss is disallowed. 

· Ivan takes 400,000 FMV basis because loss was disallowed!!! (like nonliquidating distribution)

 

(c) Same as (b), above, except X distributes Gainacre and the cash to Ivan and Lossacre to Flo.

 

· Can recognize loss so long as shareholder is not related person. So 400,000 loss is recognized!!

Taxable Acquisition Questions

v. EX: Anne is a sole shareholder of Target Co., who whole asset is a piece of appreciated real estate, Blackacre (FMV 400K; AB 0). Anne basis in stock is $100K. Assume C corps are taxed at 20%; individuals are taxed at 40% on OI and 20% on LTCG. 

1. T distributes Blackacre to Anne in complete liquidation, and then Anne sells Blackacre to P for $400,000.
a. What are the tax consequences of the transaction to Anne and T? 
i. T recognizes $400K of gain under §336(a)

ii. T incurs a tax liability of $80,000

iii. Anne has a gain of $220,000 (400,000-100K basis-80K tax liability since she has to bear it as corporation has no assets left)

iv. Tax of 44,000--> ends up with $276,000 tax liability

v. Anne has a basis of 400K (FMV basis!!--> no carryover, since there was no nonrecognition) §334(a). No further gain to purchaser since FMV-Basis=0

vi. P has a basis of 400K

vii. Does not succeed in tax attributes of T!
2.  T sells Blackacre to P and then distributes the proceeds to Anne in complete liquidation. What results?
vi. EX: B shareholder owns 100% of T Corp Stock.  AB of the stock is 200K.  T Corp owns assets FMV $450 and AB 150 plus Cash of $102
	Scenario 1:  T corp sells assets to 3p for $450 and liquidates the proceeds. 
	Scenario 2:  T liquidates the assets to B, B sells the assets to 3p for $450

	Sale of assets from T to 3p:  
T Corp:  AR 450 – AB 150 = 300K gain. (pays $102 tax)

3P:  cost basis of $450K in the assets.
	Liquidation of assets to B:  

B:  AR 450 – AB 200 = 250K gain. (331)

New AB in assets to B:  $450.  

T:  AR 450 – AB 150  = 300K gain (336)

	Liquidation of cash to B:

B:  AR 450- AB 200 = 250K gain (IRC 331).  

T:  AR 450 – AB 450 = 0 (IRC 336). 
	Sale of assets from B to 3p:
B:  AR 450 – AB 450 = 0 g/l

3P:  Cost basis in assets- 450.  


vii. Target Corporation ("T") is a C corporation. T's 1,000 shares of common stock (its only class) are owned by three unrelated individual shareholders as follows:

	SHAREHOLDER
	NO. SHARES
	ADJ. BASIS
	FMV

	A
	500
	$50,000
	$500,000

	B
	400
	$40,000
	$400,000

	C
	100
	$140,000
	$100,000

	Total
	1,000
	$230,000
	$1,000,000


A and B are in their late 70s and have held their T stock since the company was founded many years ago. C recently inherited her stock. T has $400,000 of accumulated earnings and profits and the following assets (all held long term) and liabilities:

	ASSETS
	ADJ. BASIS
	FMV

	Cash
	$200,000
	$200,000

	Inventory
	$50,000
	$100,000

	Equipment ($100,000 §1245 recapture)
	$100,000
	$200,000

	Building (no recapture)
	$50,000
	$300,000

	Securities
	$400,000
	$300,000

	Goodwill
	$0
	$200,000

	Total
	$800,000
	$1,300,000


 

	LIABILITIES
	 

	Bank Loan
	$300,000

	Total
	$300,000


T and its shareholders are considering a sale of the business. Purchaser Corporation ("P") is interested in acquiring T. Assume (for computational convenience) that C corporations are taxed on all their income at a flat corporate rate of 20% and individuals are taxed at a flat 40% rate on ordinary income and a 20% rate on long-term capital gains (and ignore the 3.8% tax on net investment income).

What are the tax consequences of the following alternative acquisition methods to T, T's shareholders, and P?
a. T adopts a plan of complete liquidation, sells all of its assets (except the cash but subject to the bank loan) to P for $800,000 cash, and distributes the after-tax proceeds to its shareholders in proportion to their stock holdings.

Corporation

For asset sale--> §1001 for each asset

50K for inventory

100K for equipment (OI, if different rates, but here there is flat)

250K for building

(100K) for securities

200K goodwill

150+350=500*.2= 100K of tax liability 

Cash + assumed liabilities = AR!

 

900K left to distribute to shareholders (800K cash+ 200K cash kept -100 liability)

NOTE: always figure out what is left!!!

Shareholders

Find each AR's which was they got! This is a stock sale!!

 

Attributes

Gone

 

Purchaser's basis

NO CARRYOVER BASIS. 

 

Chart

Look at chart for consequences. 

 

e. P purchases all the stock of T for $900 per share and makes a §338 election. Please describe the deemed transactions only (no need to calculate out the numbers).

 

Stock sale-->  Same numbers to shareholders!! Because the net distribution to shareholders is the same. 

Deemed asset sale for FMV

Same consequences

FMV basis in T!!

 

f. P purchases all the stock of T for cash but does not make the §338 election. (Consider generally what P should pay for the T stock.)

 

Tax consequences as a general stock sale. 

No asset sale. 

Carryover basis held by T

 

g. Assuming P and T are indifferent to the form of the transaction except for the impact of taxes, would you recommend the acquisition method in (a) (purchase of assets), (e) (purchase of stock with §338 election), or (f) (purchase of stock without §338 election above)?

 

Depends on if you are buyer or seller

Multiple level of taxes; bad for seller

Higher AB; good for buyer

Maybe pay less because of higher tax in future
Acquisitive Reorg Questions

1. EX: P is a publicly traded C corporation engaged in the publication of textbooks. P has 5 million shares of voting stock outstanding currently trading at $10 per share. P wishes to acquire control of T, a closely held corp that is the leading publisher of student study aids for law students. T has 4K shares of common stock (only class), held by 10 shareholders each of whom owns 400 shares. T's assets and liabilities are as follows. 
	Asset
	AB
	FMV

	Cash
	$600K
	$600K

	Inventory
	$200K
	$1 million

	Equipment
	$800K
	$1.4 million

	Goodwill
	$0 
	$2 million

	Totals
	$1.6 million
	$5 million


Liabilities: bank loan= $1 million
Both P and T have substantial AEP. T's board of directors have agreed to sell business for $4 million. Four of T's shareholders have a very low AB in the stock and wish to minimize their taxable gain on a sale. Others are interested in diversifying their interests and less considered about tax liability.
P is willing to use a mix of cash and newly issued preferred stock (not nonqualified in the meaning of §351) and assume $1 million bank loan. P wants to operate T's business through a wholly-owned subsidiary and would prefer exposure to any unknown T liabilities. 
 

What are the tax consequences of each of the plans below.
 

a. T merges directly into P, and each shareholder receives $300,000 of P nonvoting preferred stock  and $100,000 of P five year notes. 
The issue here is continuity of investment, which is the problem likely with many type A reorgs. Look to see how much of total consideration was for stock--> here, 75% was, so we good. Qualifies under an A reorg.
b. In exchange for their respective 400 shares of T stock, P transfers to each T shareholder $360,000 of P voting preferred stock and $40,000 cash. Is this a B reorg?
Issue here is one of the consideration!! There is cash being transferred! Not solely in exchange for voting stock.
c. P acquires all the T assets, and assumes the $1,000,000 liability, in exchange for $3.6 million of P voting common stock (360,000 shares) and $400,000 in P five-year notes. Immediately thereafter, T completely liquidates, distributing the P shares and notes pro rata to its shareholders. P drops down the assets it acquires to S, a newly created subsidiary. Would this be a C reorg?
NOTE: All asset are acquired--> so first element is met

Problem: Total consideration=$5 (liabilities factored in). 
Only 72% is acquired with voting stock. Problem! Thus, all the shareholders are taxed on realized gain because there is no tax-free reorg here. 
d. The same as Scenario A, above, except that T retains $400,000 of its cash, P acquires the balance of T’s assets, and assumes the liability, for $3.5 million of P voting common stock, and T distributes the P shares and cash pro rata to its shareholders in complete liquidation.  Would this be a C reorg?
· ISSUE: is liability an assumption problem? No.

· ISSUE: substantially all assets? Gross=4.6/5--> 92%; net (taking out liability)= 3.6/5= 72%. So we good. 
e. Revisit the facts regarding Publishing Company, Inc. (“P”) and Target Press, Inc. (“T”) noted below. Some T shareholder’s want to minimize their gain through a tax-free reorganization, but let’s consider the goals of P, then answer the following three questions.
i. GOALS: 

1. Does not want to give substantial amount of voting stock

2. P wishes to insulate itself from exposure to unknown or contingent liabilities and to operate T's business through a subsidiary. 

ii. Would A reorg accomplish goals?

1. First goal can because A reorg is pretty flexible.

2. Also P could contribute T's assets to a new subsidiary AFTER merging without destroying A reorg

3. HOWEVER, may be exposed to unknown or contingent liabilities of T.

iii. Would B reorg accomplish goals?

1. No. Need to only give voting shares. No boot allowed.

iv. Would C reorg accomplish goals?

1. Limited boot!! If P assumed T's $1 million liability, cannot take on any more boot!!!

2. Also no protection from unknown liabilities! 

v. How should this be structured?

1. FTM: S must acquire substantially all the properties; consideration used by P must satisfy continuity test of Type A reorgs (like 50%ish); and no S stock may be used as consideration

a. NOTE: Does not even have to be voting stock!!! Could be cash up until 50% (for those T shareholders who do not want stock)

b. NOTE: minimizes its exposure to unknown liabilities if T merges directly into S 

2. RTM: 

a. NOTE: Insulate from unknown or contingent T liabilities because T would be preserved as a corporate entity (instead of liquidating under A & C)

b. NOTE: May help if T held any valuable intangible assets that could not have been transferred!!

c. NOTE: Consideration problems. Harsh requirements compared to FTM. T shareholders must exchange an amount of stock that constitutes control. (80%)!! So A must get voting stocks from a good amount of shareholders, which may be hard if some want cash!!! 
1. Acquiring Corporation ("P") has 500,000 shares of voting common stock outstanding (value—$10 per share) and $500,000 of accumulated earnings and profits. Target Corporation ("T") has assets with an aggregate adjusted basis of $300,000 and an aggregate fair market value of $500,000, and $100,000 of accumulated earnings and profits. Except as otherwise indicated below, assume that T has no liabilities. 

2. T's 10 equal shareholders each owns 100 shares of T voting common stock with an adjusted basis of $20,000 and a fair market value of $50,000. Discuss the tax consequences to P, T, and T's shareholders of each of the following alternative transactions:  

3. T merges into P in a qualified Type A reorganization. Each T shareholder receives 4,000 shares of P voting common stock (value—$40,000) and P nonvoting preferred stock (not "nonqualified preferred stock") worth $10,000. What if the P nonvoting preferred were nonqualified preferred stock? 

a. Assuming this was not nonqualified preferred stock

i. P’s consequences: Take assets with $300,000 carryover and all attributes remain in P’s hands.

ii. T’s Consequences: No gain. §361.

iii. T’s Shareholders’ Consequences


iv. Each shareholder has realized gain: $50,000 (AR) – $20,000 (AB)= $30,000

v. Since there is no boot, none of the $30,000 is recognized. §§354, 356. 

vi. Adjusted basis: carryover of $20,000 to preserve the gain

vii. For common: 20,000 *40,000/50,000=$16,000

viii. For nonvoting: 20,000 * 10,000/50,000= $4,000

b. Assuming this was qualified preferred stock

i. P’s Consequences: E&P will likely go to 0 if there is dividend treatment, but everything else is the same as the first part above. 

ii. T’s Consequences: No gain. §361. 

iii. T’s Shareholders’ Consequences


iv. Each shareholder has realized gain: $50,000 (AR) – $20,000 (AB)= $30,000

v. There is boot here since nonqualified preferred stock is treated as boot. §354(a)(2)(C).

vi. Thus, according to §356, each shareholder must recognize $10,000 of their $30,000 gain.

vii. The character of the gain is determined by §356(a)(2), which states that recognized boot gain treated as a dividend if “the effect of a distribution of a dividend.” For this, Clark v Commissioner held that the shareholders are deemed to receive acquiror stock and redeemed their shares for boot. Thus, the appropriate place to look would be §302(b). 

viii. The character of the gain is determined by §356(a)(2), which states that recognized boot gain treated as a dividend if “the effect of a distribution of a dividend.” For this, Clark v Commissioner held that the shareholders are deemed to have received acquiror stock and then redeemed their shares for boot. Thus, the appropriate place to look would be §302(b). 

ix. After they each redeem 1,000 of their shares for the value of the note, their voting interest drops to 4/540= .74%. Applying §302(b)(2), the shareholders’ voting interests have not decreased by more than 80%. 

x. §302(b)(1) may work, though. On one hand, given how small their interests were before and after the deemed redemption, it does not seem likely that these shareholders lost the ability to control in concert with others. However, Rev.Rul. 75-512 states that a reduction of ownership for a minority shareholder is meaningful. 

xi. Ultimately, there is a chance that this situation can fall under §302(b)(1) and thus be classified as a sale or exchange. However, it may also be classified under §301. Since the corporation has just enough E&P to handle all $100,000 of distributions ($10,000*10) should this distribution be analyzed under §301, all the $100,000 between the 10 shareholders would be considered a dividend.

4. Same as (a), above, but instead of the preferred stock each T shareholder receives 20-year market rate interest bearing P notes with a principal amount and fair market value of $10,000. 

a. P’s Consequences: E&P will likely go to 0 if there is dividend treatment, but everything else is the same as (a). (see below)

b. T’s Consequences: No gain. §361. 

c. T’s Shareholders’ Consequences


d. Each shareholder has realized gain: $50,000 (AR) – $20,000 (AB)= $30,000

e. The main issue is whether these notes are boot.

f. §354(a)(2) states that where shareholders are given debt instruments when they did not actually surrender any of their own, there is boot and thus gain recognition. 

g. Thus, like above, each shareholder must recognize $10,000 of their $30,000 gain.

h. The character of the gain is determined by §356(a)(2), which states that recognized boot gain treated as a dividend if “the effect of a distribution of a dividend.” For this, Clark v Commissioner held that the shareholders are deemed to have received acquiror stock and then redeemed their shares for boot. Thus, the appropriate place to look would be §302(b). 

i. Here, pretending that each shareholder got $50,000 worth of stock, that would translate to 5,000 stocks for each of 10 shareholders. Each shareholder’s voting interest in the corporation would be 5/550 immediately after the transfer, which is around .9%. 

j. After they each redeem 1,000 of their shares for the value of the note, their voting interest drops to 4/540= .74%. Applying §302(b)(2), the shareholders’ voting interests have not decreased by more than 80%. 

k. §302(b)(1) may work, though. On one hand, given how small their interests were before and after the deemed redemption, it does not seem likely that these shareholders lost the ability to control in concert with others. However, Rev.Rul. 75-512 states that a reduction of ownership for a minority shareholder is meaningful. 

l. Ultimately, there is a chance that this situation can fall under §302(b)(1) and thus be classified as a sale or exchange. However, it may also be classified under §301. Since the corporation has just enough E&P to handle all $100,000 of distributions ($10,000*10) should this distribution be analyzed under §301, all the $100,000 between the 10 shareholders would be considered a dividend.

Corporate Divisions Questions
1. Lemon Corporation has been engaged in the manufacture and sale of personal computer hardware equipment for 10 years at two plants, one in Boston, Massachusetts, and the other in San Jose, California. During this same period, Lemon also has operated at each location a separate research and development division, each of which had significant assets and goodwill. Lemon's common stock, the only class outstanding, is owned equally by Ms. Micro and Mr. Chips.

In each of the following alternative transactions, consider whether the active trade or business requirement has been satisfied:

a. As a result of a shareholder dispute, Ms. Micro wishes to say goodbye to Mr. Chips. To enable the shareholders to part company but continue in the computer business, Lemon contributes the assets and research division of the Boston facility to a new corporation, Peach, Inc., and distributes all the Peach, Inc. stock to Mr. Chips in redemption of his Lemon stock. Ms. Micro remains as the sole shareholder of Lemon.
i. Boston is division
ii. New subsidiary--> qualify under Type D Reorg
iii. Okay to split it up by geography! Satisfy active business requirement
iv. Vertical division.
b. Same as (a), above, except that the Boston facility was opened only three years ago.
i. Two divisions did not need to have been actively conducted! Just overall business. We good
c. Same as (b), above, except that three years ago Lemon acquired all the stock of Peach, Inc., which operated the Boston facility, for cash.
i. Acquisition of all of stock of peach does not violate this active trade or business because there is just an extension of the business
2. Father is the sole shareholder of an incorporated department store which he has owned for 45 years. He has a basis of $2 million in his Store Corporation stock, which is currently worth $20 million. Store has $4 million of accumulated earnings and profits. Three years ago, Store acquired land in Suburb, where it constructed and then opened a new branch store. The branch has been quite successful and represents $5 million of the $20 million net worth of Store Corporation. The assets of the branch have a $1 million basis.
Father recently celebrated his 75th birthday and is exploring some estate planning alternatives. His attorney has suggested that he should have Store Corporation transfer the Suburb store to newly created Branch Corporation in exchange for Branch stock worth $4 million and Branch securities worth $1 million. Store Corporation, which would be worth $15 million after this transaction, then would distribute the Branch stock and securities to Father, who in turn would give the Branch stock to his children.
Discuss all the income tax consequences of the above transactions to Father, Store Corporation, and Branch Corporation, assuming that the corporate division totally or partially qualifies under §355.
Spin off: 







Consequences to Store Co. 

· No gain or loss on the transfer of assets to Branch Co. §361(a)

· Store Co. takes a substituted basis for the controlled corporation stock. §358

· Store Co. tacks holding period for new corporation stock received. §1223(1).

· E&P apportioned between Store Co and Branch Co. according to relative FMVs of assets retained by each. Reg. §1.312-10(a) and (c). Here, Store retained 15/20 of assets, so its E&P is $4 million x 15/20= $3 million. All other attributes are retained. 

· Store Co. does not recognize gain on its transfer of the stocks and securities to Father. §361(c).

· Lastly, in regard to §355(d), it is not clear how Father received his stock, i.e. whether he purchased it or acquired it in a tax-free way. However, notwithstanding this lack of information, it is clear the Father’s stock is not disqualified stock because he acquired it over 5 years ago. Accordingly, it does not seem like Store Co. would be taxed under §355(d) either.
Consequences to Branch Co. 

· Branch Co. recognizes no gain on the exchange of stocks and securities. §361(a).

· E&P will be apportioned in accordance to each corporation’s retained asset FMVs (see above). Thus, Branch Co. will have an E&P of $1 million. 

· Its assets will take a carryover basis.  

· Branch Co.’s basis is a carryover from Store Co. §362(b). 

· Branch Co.’s holding period in assets is tacked from Store Co. §1223(2).

Consequences to Father

· Since Father received securities when he did not surrender any himself, the securities will be boot per §356(d)(1). It follows that Father must recognize gain to the extent of boot received, here $1 million of received. This boot gain is likely going to be taxed under §302(b). 
· His old basis of $2 million would be apportioned between the two sets of stock based on their relative FMVs. Thus, 15/20*$2 million= $1.5 million would be attributed to the Store Co. stock and $500,000 would be attributed to the Branch Co. stock. 

Non-Acquisitive, Non-Divisive Reorg Questions
1. A and M are preferred shareholders of J, Inc. J, Inc. exchanges shares of its common stock for A and M’s preferred shares.
a. Is this a stock for stock recapitalization that should be protected under IRC §354?
i. Assuming there is a business purpose, yes! 
ii. If A and M received any boot--> recognize

iii. Basis= same as stock exchanged adjusted for any boot received and any gain recognized under §358(a)(1)

1. If more than one type of stock--> allocate based on FMV

iv. Shareholders take a tacked holding period. §1223(1)
2. Alex and Eddy are bondholders in C Corporation. They each have a basis of $100,000 in their bonds, which have a fair market value of $140,000 and a principal amount of $140,000. C Corporation exchanges its bonds worth $140,000 for their bonds. The new bonds have a principal amount of $190,000. What consequences?
a. Amount realized: $40,000 (140K-100K)

b. Excess principal: $50,000

c. Recognize: FMV of excess principal amount
3. Recap Corporation has $100,000 of accumulated earnings and profits and makes a pro rata distribution to each of its 10 shareholders of new common voting stock worth $20,000 and new callable preferred stock worth $10,000 in exchange for each shareholder's old common voting stock worth $30,000. Assume that the new Recap preferred stock is not nonqualified preferred stock. 

a. What result to the shareholders on the exchange? 

i. Qualifies as type E. Shareholders do not recognize gain. Take carryover basis and allocate to new common and new preferred. New preferred stock has §306 taint

4. Debtor Corporation is in bankruptcy. Debtor's assets have an adjusted basis of $75,000 and a value of $100,000, and the corporation has a net operating loss of $200,000, bonds outstanding (with no accrued unpaid interest) of $100,000 and trade debts of $100,000. Debtor transfers all of its assets to Relief Corporation in return for $100,000 of Relief stock which will pass half to the security holders and half to trade creditors. Debtor's shareholders will receive nothing. 

a. What are the tax consequences to the parties? 
i. Valid G reorganization since the debtor transfers all assets and then distributes the stock of Relief. 
ii. Creditors are treated as equity owners COI. 
iii. Shareholders receive nothing – a §165(g) LTCL on their stock (equal to their tax basis). 
iv. Security holders exchange $100,000 of securities for $50,000 stock. 
1. No loss recognized and $100,000 basis. 
v. Trade creditors - $50,000 bad debt loss (no §354). 
vi. Debtor corp has $100,000 of COD income that may be eligible for §108(a)(1)(B) relief with the consequence that tax attributes are reduced (i.e., the NOLs).
Attributes Questions

1. P acquires Target assets in a C reorganization in Year 1. P has accumulated E&P of $30,000 and current E&P of $20,000. T has an accumulated E&P deficit of $50,000. P distributes $20,000 cash to its shareholders in Year 1
a. What result to P shareholders in Year 1?
i. Full dividend out of CEP--> 20,000. 50,000 deficit EP from T corp can only wipe out subsequent additions to E&P.

b. Same facts as (a) except P breaks even in Year 1 and Year 2.  P distributes $20,000 in Year 2.
i. Dividend out AEP of 20,000. Inherited deficit cannot offset pre-acquisition E&P. 

c. Same facts (b) except P has current E&P deficit in Year 1 of $10,000 and breaks even in Year 2. P distributes $20,000 in Year 2
i. Dividend of $20K out of an AEP of 20K in year 2 (because of year 1 CEP deficit)

ii. Inherited E&P cannot be used to offset pre-acquisition AEP.

d. Same facts (b) except P has a $10,000 current E&P deficit in Year 3 and makes a $20,000 distribution in Year 3. What is the result of the Year 3 distribution? (assume distribution happens at the end of the year)
i. E&P not allowed to offset pre-acquisition AEP, so now AEP is 30,000-20,000 of distribution in year 2--> 10,000. Usually, need to pro-rate the CEP deficit. However, since the distribution happens at the end of the year, all the $10,000 deficit reduces AEP to 0.

e. Same facts as in (d) except P has a $20,000 current E&P in Year 4 and makes another $20,000 cash distribution.  What is the result of the Year 4 distribution?
i. Shareholder's have a dividend of 20,000 per the first layer of the layer-cake. 

f. Same facts as in (e) except that P distributes $40,000 in Year 5. Further, P makes no distribution in Year 4. P breaks even in Year 5.  What result for the Year 5 distribution?
i. P can use some of the T deficit. Since there was no distribution in year 4, P can use 20,000 of inherited deficit to offset 20,000 of CEP, making its AEP 0. All the distribution in year 5, therefore, would be a recovery of capital to the extent of basis!

2. T merges into P on August 31 (two-thirds of the way through the year). What results in the following situations:
a. P has a current deficit of ($30,000) for the entire year of the acquisition and T has $30,000 of AEP at the date of the acquisition.  The combined corporation makes a distribution of $20,000 in year 2, when it breaks even
i. 20,000 of 30,000 CEP was incurred pre-acquisition, which means that it cannot offset any pre-acquisition. But 10,000 CAN because it was incurred AFTER acquisition. Thus, out of the 30,000 AEP outstanding in T, T can use 10,000. AEP would now be $20,000, which means that all the distribution would be a dividend!

b. Same as (a) except that P has $30,000 of CEP for the year and T has a $30,000 current deficit in E&P at the time of the acquisition.  The combined corporation makes a distribution of $20,000 in Year 2 when it breaks even. 
i. P has CEP of 10,000 after the acquisition. Order is flipped!!

ii. Same result--> deficit rule applies to a deficit of either the target or acquiring. Direction of merger does not matter!

c. Same as (b), above, except that the combined corporation makes a distribution of $30,000 on the last day of the year of acquisition.
i. Ordering rules

ii. Distribution is made first out of 30,000 of CEP of P. This means that none of inherited E&P is touched. So it remains $30,000 at the beginning of next year

3. Loss Co. has 100 shares of common stock owned equally by Shareholders 1 through 25 who are not related to one another.  Loss Co. has assets worth $1,000,000 and an NOL of $8,000,000.  Will the §382 loss limitations apply if all shareholders sell their stock to Julie?
a. J increases her ownership from 0 to 100%, which is more than 50%. Thus, since J is a 5% shareholder (since she is getting more than 5%), within meaning of §382(k)(7), there has been an ownership change.

4. Same as in (a), above, except that only Shareholders 1-13 sell their stock to Julie. 
a. J's ownership went from 0%-52%, which represents a more than 50% change! Thus ownership shift! J is 5% shareholder. 

5. Same as (a), above, but only Shareholders 1-12 sell their stock to Julie.
a. No ownership shift. 0%-48%. Change in 5% shareholders is less than the 50% threshold. 

6. Same as (c), above, except Loss Corp redeems Shareholders 13 & 14 two years later.
a. Redeem shares--> 8 shares gone. Total shares=92. 

b. J owns 48/92=0.5217--> more than 50% ownership of 5% shares within 3 year testing period!!

7. Same as (c), above, except Shareholder 13 sells her stock to new Shareholder 26.

a. No ownership change. Shareholder 26 is a less than 5%, but any stock owned by her is deemed to owned by a single 5% shareholder comprised of whole group of less than 5% shareholders!! Thus, since total hasn't increased, no ownership change. 

8. Same as (e), above, except that Shareholders 13 and 14 sell their stock to new Shareholder 26.
a. Shareholder 26 is a 5% owner here, as she is getting 8%. So there is an 8% increase in her share. J also had a 48% percent increase. Total of 56%, which is greater than 50%. Ownership change has occurred and §382(g)(1) and (b) limits apply

9. What results if Shareholders 1-25 sell their stock to new Shareholders 26-50?
a. No ownership change has occurred. All less than 5% shareholders are treated as one. After the exchange, all stock is still owned by a single group of less than 5% shareholders
10. Loss Co. has net operating loss carryforwards or $10,000,000. It has assets worth $10,000,000 and liabilities of $2,000,000. Profit Co. is a publicly held company worth $100,000,000.

a. On January 1, Year 1, Profit Co. acquires all of the Loss Co. assets in a merger of Loss Co. into Profit Co., where Loss Co. shareholders receive Profit Co. stock, worth $8,500,000. The long-term tax-exempt rate at that time is 5%. Assuming the Loss Co. business is continued, to what extent can Profit Co. deduct Loss Co.’s loss carryforwards in Year 1?

i. Here, there was an ownership change as a result of an equity structure shift. 

ii. Limitation is .05*8.5 million=$425,000
b. What results in (a), above, if Profit Co. instead purchases all of the Loss Co. stock for $8,500,000?

i. Same
c. What result in (a), above, if Profit Co.'s taxable income, disregarding any loss carryforward, is $300,000 in Year 1?

i. Profit Co. can use $300,000 of the allotted $425,000 NOL carryforward and can also carryforward the excess $125,000. 

S-Corp Questions

1. Z Corporation (“Z”) is a domestic corporation.  Z has 120 shares of voting common stock outstanding. Z has 99 individual shareholders, each of whom owns one share of Z stock. The remaining 21 shares are owned by A and his brother B, as joint tenants with right of survivorship.   Does this arrangement violate the 100-shareholder limit under section 1361(b)(1)(A)? 
a. No. Family

2. Assuming the same facts as in the preceding problem, except that Z has 99 shareholders and two additional married shareholders holding both (1) community and (2) separate property. Does this arrangement violate the 100-shareholder limit under section 1361(b)(1)(A)? 
a. Married couple treated as one

3. Assume instead that Z Corporation has 100 shares of Class A voting common stock and 50 shares of Class B nonvoting common stock outstanding. Apart from the differences in voting rights, the two classes of stock have equal rights to dividends and liquidation distributions.  Z also has an authorized but unissued class of nonvoting stock which would be limited and preferred as to dividends.  The Class A stock is owned by four individuals and the Class B is owned by E and F, a married couple, as tenants-in-common. Does Z violate the one-class-of stock limitation in section 1361(b)(1)(D)?
a. Different voting rights between two classes is fine! Not two classes!

b. Authorized but unissued preferred stock is not relevant until issued!
4. Snowshoe, Inc., a ski resort was organized by its four individual shareholders (A, B, C, and D) and began operations on October 3 of this year. A owns 300 shares of Snowshoe voting common stock, and B, C, and D each own 100 shares of nonvoting common stock. Each share of common stock has equal rights to dividends and liquidation distributions.

a. Who must consent to the S Corporation election? 

i. ALL shareholders §1362(a)(2). 

b. Assume that B sold her stock to her brother G prior to the election.

i. BOTH B&G for the first year!

c. What if B is a partnership? Is a partnership a permitted shareholder?

i. Partnership IS AN INELIGIBLE shareholder. No qualification in Year 1

d. What is the last day an effective S election can be made for the current year?

i. 15th day of the 3rd month of the taxable year. When does the taxable year begin? When the corporation begins to do business or acquires asset. Reg. §1.1362-6(a)(2)(ii)(C). Here--> Oct.3d.

e. What taxable year will Snowshoe be allowed to select? 

i. A calendar year OR an accounting period with a business purpose (other than income deferral). 

f. Assume that Snowshoe elected S corp. status during its first year of operations. Can A revoke the S election without the consent of B, C, or D? 
i. No. A has 50%. Must have more than 50% (including non-voting stock). Need one more shareholder at least. 

Basis rule for corporations!





Remember CEP attribution rules. Based off amount





Remember more than 50% shareholder





Always ask( are they related?





Father (Basis=$2 Million; FMV=$20 Million)
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$4 AEP; Assets: $20 million





Division 1: Incorporated Store


Division 2: Branch Store
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Assets= $5 million








